4545 W Brown Deer Road
PO Box 245036
Badger Meter
Milwaukee, Wisconsin 53224-9536
414-355-0400 | 800-876-3837
www.badgermeter.com
May 29, 2025

Mr. Leisel Collins
Assistant Division Director
County of Henrico

8600 Staples Mill Road
P.O. Box 90775

Henrico, VA 23273-0775

RE: Contract # 2339A — Water Meters and Fire Hydrant Meters

Dear Mr. Collins:

In response to your request for an extension of the aforementioned contract, please be advised that
Badger Meter will extend said contract for supply of new meters for an additional one-year period subject
to a price increase of 2.71%. The new contract period will be valid July 1, 2025 - June 30, 2026.

Please note that this price increase is in accordance with the increase in the Consumer Price Index for
All Urban Consumers as reported by the U.S. Bureau of Labor Statistics of the U.S. Department of Labor
from March 2024 to April 2025.

For this extension, please note payment terms are net 30 days. Prices quoted herein will remain firm if
acceptance is made within 60 days. This letter, as well as the general disclosures attached hereto, are
incorporated by reference into the agreement between the parties.

In the event you have any questions regarding this correspondence, we can be reached by telephone at
800-876-3837 or by email at proposals@badgermeter.com. Additionally, you may contact your Account
Manager, Kesha Hasty, by telephone at 414-554-8634 or by email at MHasty@badgermeter.com.

We appreciate the opportunity to continue to support your metering needs.

Sincerely,
BADGER METER, INC.

Monique D. White
Assistant Secretary and Proposal Lead



GENERAL DISCLOSURES
CONFIDENTIALITY STATEMENT

The information contained herein is to be considered confidential and proprietary to the extent
allowable by law. © 2025 Badger Meter, Inc. All rights reserved.

DISCLOSURE

After the extension period ends on June 30, 2026, Badger Meter reserves the right to increase pricing
at the time of renewal. Badger Meter also reserves the right to adjust pricing during the term to
account for changes in law or other geoeconomic influences that are not enacted at the time of bid
including, but not limited to, tariffs, duties, and taxes.

If applicable, sales tax and freight will be calculated based on rates and tax status in effect at the time
of invoicing.

Any additional terms and conditions remain the same.



CONTRACT #  2339A — Water Meters and Fire Hydrant Meters

BUYER NAME: Leisel O. Collins, CPPB, VCO, VCA — Assistant Division Director

Except for the changes provided herein, all other terms and conditions of this contract remain unchanged and in full force and
effect. Please check one of the following:

Yes. Renew the contract for an additional one-year period at current contract pricing.

Yes. Renew the contract for an additional one-year period at new contract pricing.
(list below or attach new pricing sheet)

Badger Meter will extend said contract for Water Meters and Fire Hydrant Meters for an additional

one-year period from July 1, 2025 to June 30, 2026 subject to a price increase of 2.71% as detailed

below.

No. Do not wish to renew the contract. If no, please provide reason below.

Badger Meter, Inc. May 29, 2025

Company Name: Date:
Signature: W W«‘gu @ W Title: Assistant Secretary and Proposal Lead
Telephonett: (800) 876-3837 Email: proposals@badgermeter.com

F0340556
SCCH#:

April 2020




DATE (MM/DD/YYYY)

) ®
ACORD
CERTIFICATE OF LIABILITY INSURANCE 1213012024

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS
CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES
BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED
REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed.
If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on
this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

PRODUCER . ﬁmg«m Brown & Brown Retail Insurance Services
Brown & Brown Insurance Services, Inc. PHONE _ 414-443-0000 [ A% o
Dba Brown & Brown Retail Insurance Services (G Mo Ext): S (AIC. No):
1200 N. Mayfair Road, Suite 100 ADDRESS: milcertificates@bbrown.com
MllwaUKee’ I 53226 INSURER(S) AFFORDING COVERAGE NAIC #
www.bbrown.com INSURER A : _Phoenix Insurance Company 25623
'NSBUR(E:]D M | INSURER B : Travelers Property Casualty Co of Amer 25674
45a4 ?/{/es?tBe;bV\r/]r?'Deer Road INSURER C: Accident Fund Ins Co of America 10166
Milwaukee WI 53223 INSURER D :
INSURERE :
INSURER F:
COVERAGES CERTIFICATE NUMBER: 83367676 REVISION NUMBER:

THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD
INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS
CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS,
EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.

INSR ADDL[SUBR POLICY EFF | POLICY EXP
LTR TYPE OF INSURANCE INSD | WWD POLICY NUMBER (MM/DD/YYYY) | (MM/DD/YYYY) LIMITS
A | ] | COMMERCIAL GENERAL LIABILITY O Y660 268J2023-PHX-25 1/1/2025 1/1/2026 EACH OCCURRENCE $1,000,000
DAMAGE TO RENTED
CLAIMS-MADE E OCCUR PREMISES (Ea occurrence) | $300,000
MED EXP (Any one person) $10,000
PERSONAL & ADV INJURY $1,000,000
GEN'L AGGREGATE LIMIT APPLIES PER: GENERAL AGGREGATE $4,000,000
0 | poLicy |:| B |:| Loc PRODUCTS - COMP/OP AGG | $2,000,000
OTHER: $
COMBINED SINGLE LIMIT
B | AUTOMOBILELIABILITY BA 2L694073-25 1/1/2025 | 1/1/2026 (Ea accident) $1,000,000
ANY AUTO BODILY INJURY (Per person) | $
OWNED SCHEDULED !
AUTOS ONLY AUTOS BODILY INJURY (Per accident) | $
HIRED NON-OWNED PROPERTY DAMAGE $
O | AUTOS ONLY AUTOS ONLY (Per accident)
$
B 0 UMBRELLA LIAB O | occur CUP A7629887-25 1/1/2025 1/1/2026 EACH OCCURRENCE 3$ 5,000‘000
EXCESS LIAB CLAIMS-MADE AGGREGATE $5,000,000
DED ‘ 0 ‘ RETENTION $10,000 $
C |WORKERS COMPENSATION UH WCP 100074452 03 1/1/2025 1/1/2026 0 EEETUTE ‘ ggH-
AND EMPLOYERS' LIABILITY Y/IN
ANYPROPRIETOR/PARTNER/EXECUTIVE E.L. EACH ACCIDENT $1,000,000
OFFICER/MEMBER EXCLUDED? N7A
(Mandatory in NH) E.L. DISEASE - EA EMPLOYEE| $1.000.000
If yes, describe under
DESCRIPTION OF OPERATIONS below E.L. DISEASE - POLICY LIMIT | $1,000,000

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required)

County of Henrico and Henrico County Public Schools are included as additional insureds on the general liability policy
when required by written contract. The general liability policy is primary and non-contributory when required by written

contract.
CERTIFICATE HOLDER CANCELLATION
. SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE
County of Henrico THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN
P.O. Box 90775 ACCORDANCE WITH THE POLICY PROVISIONS.

Henrico VA 23723

AUTHORIZED REPRESENTATIVE %
]
%)LJ T,

| Michael Sarner

© 1988-2015 ACORD CORPORATION. All rights reserved.

ACORD 25 (2016/03) The ACORD name and logo are registered marks of ACORD
83367676 | 476918 | *25-26 (BID) GL AU EXSM V‘CAE{ andard) | Any Vossekuil | 12/30/2024 7:06:02 PM (CST) | Page 1 of 1
This certificate cancels and supersedes L previously issued certificates.



Domestic Quotation

BﬂdgEl’ Meter Quotation No. 3770501
Badger Meter Inc. To Customer ID 00450190
4545 W Brown Deer Road Milwaukee WI 53223 COUNTY OF HENRICO VIRGINIA
PO Box 245036 Milwaukee WI 53224-9536 PARHAM AND HUNGARY-SPRINGS RD
P O BOX 27032
RICHMOND

Virginia , 232730001

Revised Date:
Pricing Effective Dates: 07-01-2025 - 06-30-2026

Salesperson Proposal Subject Shipping Terms / INCO Terms Payment Terms
005543 KESHA HASTY WATER METERS AND FIRE [PREPAY/NO CHARGE For SHIPMENTS > NET 30 DAYS
HYDRANT METERS Bid IFB $35,000
No. 22-2339-4MEJ FCA FACTORY
Line # Description Qty Unit Net Price | Line Totals
uUsD uUsD
1 4300 112.18 482,374.00
BMI Part No.: 103-5837
Customer Part: 5/8 X 1/2 CUST S/N 6D FT3
Cat String: DS-BAA-PC1P-XXD3-C3-E1CC-2B1X1-6JD-P2-XX-CF-XX-
B53
Description:
Disc, M25 5/8"(1/2x7-1/2), Cl Btm 430SS-1, PL, (TS-135, SN DSq LB &
PBB, HR-E LCD, 4CXN2 ltron, PL Lid/Shrd-GRY, Trx Scrw, Sidewalk read,
6D-1 FT3, SN DSq (Stp&BC) in & out, ILC-5ft, HENRICO VI
2 140 181.38 25,393.20
BMI Part No.: 103-5835
Customer Part: M55 1" W/ 6D FT3, ITRON
Cat String: DS-JCA-PC1P-XXD3-C3-E1CC-2B1X1-6JD-P2-XX-CF-XX-
B53
Description:
Disc, M55 1"(10-3/4), Cl Btm 430SS-1, PL, (TS-135, SN DSq LB & PBB,
HR-E LCD, 4CXN2 lItron, PL Lid/Shrd-GRY, Trx Scrw, Sidewalk read, 6D-1
FT3, SN DSq (Stp&BC) in & out, ILC-5ft, HENRICO VIRGINI
3 170 386.15 65,645.50
BMI Part No.: 114-7384
Cat String: DS-NDB-PFAS-XXD3-C3-E1CC-2B1X1-6KD-P2-XX-CF-XX-
B53
Description:
Disc, M120 1-1/2"-ELL Dr w/TP, 430SS, SS, (TS-135, SN DSq LB & PBB,
HR-E LCD, 4CXN2 Itron, PL Lid/Shrd-GRY, Trx Scrw, Sidewalk read, 6D-10
FT3, SN DSq (Stp&BC) in & out, ILC-5ft, HENRICO VIRGIN
4 100 560.27 56,027.00
BMI Part No.: 115-1813
Cat String: DS-REB-PFAS-XXD3-C3-E1CC-2B1X1-6KD-P2-XX-CF-XX-
B53
Description:
Disc, M170 2"-ELL Dr w/TP, 430SS, SS, (TS-135, SN DSq LB & PBB, HR-
E LCD, 4CXN2 ltron, PL Lid/Shrd-GRY, Trx Scrw, Sidewalk read, 6D-10
FT3, SN DSq (Stp&BC) in & out, ILC-5ft, HENRICO VIRGINIA (
5 20 2,414.23 48,284.60
BMI Part No.: 107-4316
Cat String: CS-CFA-P-T4XX-X-C1-C3-E1CC-2B1X1-6K-6J-D-TN-XX-CJ-
XX-B53

Thank you for your business!
Estimated ship dates subject to change based upon component availability, as a result of global supply chain constraints, or credit review.
This acknowledgment is made subject to the terms & conditions found on our web-site: https://www.badgermeter.com/terms-and-conditions.
Terms and conditions related to service units, training, and professional services can be found here: https://badgermeter.com/service-units-terms-and-conditions

DAan~nn~ 1 AFf2



Domestic Quotation

Badger Meter Quotation No. 3770501
Line # Description Qty Unit Net Price | Line Totals
usbD usbD
Description:

CSM, 3" Rnd w/TP, 316SS-4, SN DSq LB & PBB, HR-E LCD, 4CXN2 Itron,
PL Lid/Shrd-GRY, Trx Scrw, Sidewalk read, 6D-10 FT3, 6D-1 FT3, SN DEF
SQ BC IN, DEF SQ OUT ILC-25ft, HENRICO VIRGINIA (ID=45

6 20 0.00 0.00
BMI Part No.: 100-6311

Cat String: SB-SFA-PTNAX
Description:
Plte Strnr Brz, 3" Rnd w/DP, 316SS, SS Stds-Nuts/Std Blk Gskt,

7 20 3,713.93 74,278.60
BMI Part No.: 107-4334

Cat String: CS-CGA-P-T4XX-X-C1-C3-E1CC-2B1X1-6K-6J-D-TN-XX-CJ-
XX-B53

Description:

CSM, 4" Rnd w/TP, 316SS-4, SN DSq LB & PBB, HR-E LCD, 4CXN2 ltron,
PL Lid/Shrd-GRY, Trx Scrw, Sidewalk read, 6D-10 FT3, 6D-1 FT3, SN DEF
SQ BC IN, DEF SQ OUT ILC-25ft, HENRICO VIRGINIA (ID=45

8 20 0.00 0.00
BMI Part No.: 100-6312

Cat String: SB-SGA-PTNAX
Description:
Plte Strnr Brz, 4" Rnd w/ DP, 316SS, SS Stds-Nuts/Std Blk Gskt,

9 20 5,276.89 105,537.80
BMI Part No.: 107-4328

Cat String: CS-CHA-P-T4XX-X-C1-C3-E1CC-2B1X1-6S-6J-D-TN-XX-CJ-
XX-B53

Description:

CSM, 6" Rnd w/TP, 316SS-4, SN DSq LB & PBB, HR-E LCD, 4CXN2 lItron,
PL Lid/Shrd-GRY, Trx Scrw, Sidewalk read, 6D-100 FT3, 6D-1 FT3, SN
DEF SQ BC IN, DEF SQ OUT ILC-25ft, HENRICO VIRGINIA (ID=4

10 20 0.00 0.00
BMI Part No.: 100-6146

Customer Part: 6" STRAINER W/ NUTS/ GASKET

Cat String: SB-SHA-PTNAX

Description:

Plte Strnr Brz, 6" Rnd w/DP, 316SS, SS Stds-Nuts/Std Blk Gskt,

1" 50 1,357.25 67,862.50
BMI Part No.: 107-9674

Cat String: HM-HFE-P-T1-AB-SL-3-T1-HD-L1-XX-8A1X-1L2-DTN-XX-XX-
XX-B53

Description:

Fire Hydrant, 3" AL Red, 316SS-1, 2-1/2 FCORx3 MNPT Richmond, VA 2

1/2 -7 1/2 NH STD NL, Chk/Gate ViIve, SN DSq Head, Local, Lck Brz Lid/

shrd, Slt Scrw, Sidewalk read, FT3, SN DEF SQ BC IN, DEF

Subtotal - USD 925,403.20
Total Price - USD 925,403.20

Notes and Assumptions

If applicable, sales tax and freight, if included on the proposal, is an estimate and will be recalculated based on rates and tax status in
effect at the time of invoicing.

Thank you for your business!

Estimated ship dates subject to change based upon component availability, as a result of global supply chain constraints, or credit review.
This acknowledgment is made subject to the terms & conditions found on our web-site: https://www.badgermeter.com/terms-and-conditions.
Terms and conditions related to service units, training, and professional services can be found here: https://badgermeter.com/service-units-terms-and-conditions

DAanA D Af2



Domestic Quotation
Badger Meter Quotation No. 3770501

To expedite the order entry process, please ensure the following is noted on your purchase order: billing address, shipping address,
purchase order number, quantity, price, payment terms, quotation number, and the vendor is listed as Badger Meter, Inc.

Please send all purchase orders to the contact that prepared this quotation for you.

Actual lead time to be provided at time of order.

Badger Meter provides certification files to help manage meter and endpoint inventory and to maintain meter accuracy data. The
standard method of delivery for this format is via electronic mail. Any deviations from our standard format, or any custom file formats,
will be considered on a time and material basis.

Due to continuous improvements and redesign of Badger Meter products and technology solutions, Badger Meter reserves the right to
provide our newest product solutions as an alternative to the proposed products provided they are in conformance with the
requirements of the specifications and do not exceed the prices quoted.

Thank you for your business!

Estimated ship dates subject to change based upon component availability, as a result of global supply chain constraints, or credit review.
This acknowledgment is made subject to the terms & conditions found on our web-site: https://www.badgermeter.com/terms-and-conditions.
Terms and conditions related to service units, training, and professional services can be found here: https://badgermeter.com/service-units-terms-and-conditions

DAan~nA 2 AFf2



Henrico County Virginia IFB
No. 22-2339-4MEJ
Badger Meter Discount 15%

Effective: February 25, 2025

Utility Service Parts
Price List

CONFIDENTIAL AND PROPRIETARY

Please contact your customer service representative for assistance.
(800)-616-3837

ALL PRICES ARE IN US DOLLARS

Due to continuous research, product improvements and enhancements, Badger Meter reserves the right to change product or
system specifications without notice, except to the extent an outstanding contractual obligation exists.

All prices are subject to change without notice. All prices are F.C.A. Badger Meter factory (pursuant to Incoterms). Standard
payment terms are Net 30 Days. All prices are listed in U.S. Dollars.

Sales are subject to Badger Meter Standard Terms and Conditions and the terms and conditions of the standard published
Badger Meter warranties.

Trademarks appearing in this document are the property of their respective entities. Due to continuous research, product improvements and enhancements, Badger Meter

reserves the right to change product or system specifications without notice, except to the extent an outstanding contractual obligation exists.
© 2025 Badger Meter, Inc. All rights reserved.

www.badgermeter.com

Badger Meter, Inc. Confidential and Proprietary

Page 1



% Badger Meter

Utility Service Parts

| Part Number List Price Part Descriptions |
03240-000 6.18 GASKET, RUBBER, 1-1/2
03241-000 6.18 GASKET, RUBBER, 2
07561-019 40.17 ASSY STRT CONN 1" L WASHER
07562-007 83.43 ASSY 1/2 BENT 1" RBR WSH FSA
11012-001 0.52 WASHER COUPLING, 9/64 THICK RUBBER, 5/8
11012-003 1.03 WASHER COUPLING, 5/64 THIN RUBBER, 5/8
11071-009 8.24 GASKET, CIRCULAR FLANGE 3"
11071-010 18.54 GASKET, CIRCULAR FLANGE 4"
11071-011 24.72 GASKET, CIRCULAR FLANGE 6"
11071-012 44.29 GASKET, CIRCULAR FLANGE 8"
11071-013 72.10 GASKET, CIRCULAR FLANGE 10"
11071-014 87.55 GASKET, CIRCULAR FLANGE 12"
11071-033 1.03 GASKET, CIRCULAR, HOUSING BOTTOM, M25
11074-003 3.09 DOVE TAIL INSERT, M70
14143-000 1.03 WASHER, COUPLING, RUBBER, 9/64 THICK, 3/4
14143-001 0.52 WASHER, COUPLING, RUBBER, 5/6 THIN, 3/4
14315-013 562.38 ASSY. CONN. ROUND IRON 8, (SET, W/BOLTS & NUTS)
14315-014 1,159.78 ASSY. CONN. ROUND IRON 10, (SET, W/BOLTS & NUTS)
14315-015 2,839.71 ASSY. CONN. ROUND IRON 12, (SET, W/BOLTS & NUTS)
14315-016 168.92 ASSY. CONN. ROUND IRON 2, (SET, W/BOLTS & NUTS)
14315-017 257.50 ASSY. CONN. ROUND IRON 3, (SET, W/BOLTS & NUTS)
14315-018 281.19 ASSY. CONN. ROUND IRON 4, (SET, W/BOLTS & NUTS)
14315-019 455.26 ASSY. CONN. ROUND IRON 6, (SET, W/BOLTS & NUTS)
14315-100 392.43 ASSY. CONN. ROUND Cl 4, SS HARDWARE W/ WASHERS
14315-102 546.93 ASSY. CONN. ROUND CI 6, SS HARDWARE W/ WASHERS
14315-104 764.26 ASSY. CONN. ROUND CI 8, SS HARDWARE W/ WASHERS
14315-114 42127 ASSY. RND. CONNECTION, NL BRONZE 2"
14315-115 602.55 ASSY. RND. CONNECTION, NL BRONZE 3"
14315-116 936.27 ASSY. RND. CONNECTION, NL BRONZE 4"
14315-117 1,608.86 ASSY. RND. CONNECTION, NL BRONZE 6"
14315-118 2,046.61 ASSY. RND. CONNECTION, NL BRONZE 8"
14711-133 46.35 NIPPLE, 2 X 6 BRASS
14711-137 18.54 NIPPLE, FLUSHING OUTLET, FOR 3" & 4" FSM AND 4" FSA
14711-138 24.72 NIPPLE, 2" NPT COSE, FLUSHING OUTLET, FOR 4" & 6" FSA
14711-139 46.35 NIPPLE, 3" NPT COSE, FLUSHING OUTLET, FOR 8" & 10" FSA
14711-140 44.29 2" X 5" BRASS NIPPLE, FOR 6" & 8" FSA
14711-141 52.53 2" X 7" BRASS NIPPLE, FOR 8" & 10" FSA
14711-142 75.19 2" X 9" BRASS NIPPLE, FOR 10" FSA
14711-150 28.84 NIPPLE, 2" X 3 BRASS
14711-151 77.25 NIPPLE, 2" X 10" CLOSED
14711-152 43.26 2"X 4.5 CLOSED NIPPLE
14711-154 38.11 NIPPLE, 2" X 4"
14711-155 36.05 2" X 3 1/2" NIPPLE
14711-156 219.39 2" X 22" NIPPLE
14711-157 26.78 NIPPLE, 2" X 2.5"
14711-160 12.36 NIPPLE, 1" X 2.50 BRASS
14711-161 50.47 BRASS PIPE NIPPLE
14914-000 0.52 CAP, SPUD, PLASTIC, 3/4" THREAD, FOR 5/8" METER
14916-000 0.52 CAP, SPUD, PLASTIC, 1-1/4" THREAD, FOR 1" METER.
14918-000 0.52 CAP, SPUD, PLASTIC, 1" THREAD, FOR 3/4" METER
18177-001 1.03 WASHER, COUPLING, RUBBER 5/64 THIN, 1
20336-045 83.43 ASSY. ELL FLANGE DI 1-1/2"
20336-046 22248 ASSY. ELLIP. FLANGE, NL BRONZE 1-1/2"
20336-047 93.73 ASSY. ELL FLANGE DI 2"

UTL-PL-00047-EN-41 (02/25/2025)

CONFIDENTIAL AND PROPRIETARY
2

Price List



=
=
RB Badger Meter

Part Number
20336-048
20336-049
21830-000
22559-024
22559-034
22559-035
22559-038
22559-043
22559-044
22559-045
22559-047
22559-048
22559-049
22559-050
22559-051
22559-052
22562-004
22650-030
22650-045
22650-047
22650-050
22650-051
22650-055
22650-056
22650-057
22650-058
22650-059
22650-060
22650-064
22650-065
22650-066
22779-027
22779-029
22779-034
23123-002
23123-003
23123-004
23123-005
23123-007
23123-009
23123-012
25361-000
25421-034
25421-043
25421-044
25421-045
25421-046
25724-000
25724-010
25724-014
26017-005
26017-006
26017-007
26017-010
26017-013

UTL-PL-00047-EN-41 (02/25/2025)

List Price
278.10
47.38

5.15
9.27
5.15
11.33
20.60
11.33
16.48
14.42
24.72
20.60
20.60
30.90
50.47
46.35
2.58
5.41
2.32
1.80
4.12
7.21
2.06
0.52
1.03
2.06
3.09
1.55
0.77
0.52
0.52
103.00
61.80
29.87
1,138.15
438.78
231.75
84.46
96.82
57.68
141.11
16.48
7.21
10.30
7.21
10.30
10.30
116.39
197.76
371.83
0.52
62.83
0.52
2.06
1.03

Part Descriptions

ASSY. ELLIP. FLANGE, NL BRONZE 2"
ASSY. ELL FLANGE DI 1-1/2" (HALF SET)
INSERT

TETRA-SEAL, GOSHEN, 1272
TETRA-SEAL, BUNA-N

TETRA-SEAL, BUNA-N

TETRA-SEAL, BUNA-N

TETRA-SEAL BUNA-N

TETRA-SEAL, BUNA-N

TETRA-SEAL, BUNA-N

TETRA-SEAL, EPR

TETRA-SEAL, EPR

TETRA-SEAL, EPR

TETRA-SEAL VITON

TETRA-SEAL, VITON

TETRA-SEAL, VITON

WASHER .113 X 1/4 X .015 STL

O RING

O-RING 1-5/16 X 1-7/16 X 1/16

O-RING, 3-1/2 X 3-11/16 X 3/32 FOR M25 PLASTIC
GASKET, FOR 2" INTEGRAL STRAINER
GASKET, FOR 3" INTEGRAL STRAINER
O-RING FOR MODEL 25 BRONZE WITH PLASTIC BOTTOM
O-RING MODEL 35

O-RING MODEL 70

O-RING MODEL 120

O-RING MODEL 170

O-RING (MODEL 55) CHAMBER ASSY.
O-RING 1/16"X1-1/4" NSF

O-RING 1/16"X15/16" NSF

O-RING 1/16"X11/16" NSF

BUSHING PIPE BRZ. HEX 3X2

BUSHING 3 X 2 - 1/2 NPT SS 304
BUSHING, 2" X 1.5"

FLANGE, ROUND, IRON 12" 125# (SINGLE)
FLANGE, ROUND, IRON 10" 125# (SINGLE)
FLANGE, ROUND, IRON 8" 125# (SINGLE)
FLANGE, ROUND, IRON 4" 125# (SINGLE)
FLANGE, ROUND, IRON 3" 125# (SINGLE)
FLANGE, ROUND, IRON 2" 125# (SINGLE)
FLANGE, ROUND, IRON 6" 125# (SINGLE)
SCREW, SEAL RSC 420

HEAD BOLT, W/SEAL HOLE (1 REQUIRED), 3" AND 4" RCDL TURBO SERIES
HEAD BOLT, W/SEAL HOLE (1 REQUIRED), 1 1/2" AND 2" RCDL TURBO SERIES

HEAD BOLT, W/ SEAL HOLE, 6" RCDL TURBO SERIES
SEAL BOLT HXHD 3/8-16X2 SST

SEAL BOLT HXHD 1/2-13X2 SST

NIPPLE REDUCER, 2-1/2-7-1/2NH
NIPPLE REDUCER, 2-1/2 (SPECIAL)
NIPPLE REDUCER, 2 1/2-7 1/2 NH LL
WIRE SEAL 3 STRAND 6" LENGTH

WIRE SEAL 2 STRAND 250 FOOT LENGTH
WIRE SEAL 3 STRAND 4" LENGTH

WIRE SEAL 3 STRAND 22" LENGTH

WIRE SEAL 1 STRAND 12" LENGTH

CONFIDENTIAL AND PROPRIETARY
3

Utility Service Parts

Price List



)
=
-B Badger Meter Utility Service Parts

Part Number List Price Part Descriptions

26017-021 105.06 WIRE SEAL 3 STRAND 250 FOOT LENGTH

26205-001 10.30 SEAL SCREW 8-32 X 3/4 BRASS NI PL

26505-000 129.78 FIRE HOSE REDUCER

26505-006 206.00 FIRE HOSE RDCR 21/2- 71/2NH LL

26506-002 69.01 BALL VALVE 3/4"

26506-004 206.00 BALL VALVE, FLUSHING OUTLET, FOR 3" & 4" FSM & 4" FSA

26506-006 620.06 BALL VALVE, 3" FLUSHING OUTLET, FOR 8" & 10" FSA

26506-008 276.04 BALL VALVE, 2" FLUSHING OUTLET, FOR 6" FSA

26506-015 67.98 VALVE LOCKING HANDLE 1"

26506-016 26.78 VALVE LOCKING HANDLE 2"

26506-017 389.34 2-1/2 GATE VALVE

26506-018 342.99 CHECK VALVE

26506-022 147.29 CHECK VALVE 1" MILWAUKEE/WATTS

26506-023 248.23 2" GATE VALVE

26506-024 207.03 1" BALL VALVE, 316SS

26506-026 404.79 2"BALL VALVE, 316SS

26506-028 350.20 VALVE, OPEN LOCKING 1.5 SS 316

26506-031 338.87 2" CHECK VALVE

26506-042 260.59 BTRFLY VALVE LUG 2 1/2 Cl 150#

26506-043 506.76 MILW BUTTERFLY VALVE W/ GEARBOX OPERATOR, # CL323

26506-045 357.41 GEARBOX OPERATOR W/ HANDWHEEL

26506-046 161.71 PLMT SERVICE PART KIT

26541-000 1.03 BUSHING FLANGE

31132-055 2.06 O-RING, 2.7251.D. X 3.145 0.D. X 2.10

31820-026 0.52 SCREW THDCT25 T10PN 4-24X9/16

31820-033 0.52 SCREW THDFMPLST PHPN 6-19X3/4

31820-034 0.52 SCREW THDFMPLST PHPN 8-16X1/2

31820-035 0.52 SCREW THDFMPLST PHPN 8-16X1/4

31820-036 0.52 SCREW THDFMA PHPN 8-15 X1 SST

32140-000 4.12 REGISTER SEAL SCREW, FILL. HEAD 8-32

33047-000 124.63 SEAL PRESS WITH INSERT (MAX. 6 LETTERS, 3-1ST LINE, 3-2ND LINE)

33334-005 44.29 CHAMBER & DISC ASSY M-70

33334-009 33.99 CHAMBER ASSEMBLY - M25 - PLAST. T.R.

33334-016 101.97 CHAMBER ASSEMBLY - M70 - SS T.R.

33334-017 218.36 CHAMBER ASSEMBLY - M120

33334-023 52.53 CHAMBER ASSEMBLY

33334-028 232.78 CHAMBER ASSEMBLY - M170

33334-029 40.17 CHAMBER ASSEMBLY - M35 - PLAST. T.R.

33334-032 101.97 CHAMBER ASSEMBLY - M70 - PLAST. T.R.

33334-038 40.17 CHAMBER ASSEMBLY (RECLAIMED) - M25

33334-040 44.29 CHAMBER ASSEMBLY (RECLAIMED) - M35

33334-042 88.58 CHAMBER ASSEMBLY (RECLAIMED) - M70

33334-044 209.09 CHAMBER ASSEMBLY (RECLAIMED) - M120

33334-046 253.38 CHAMBER ASSEMBLY (RECLAIMED) - M170

33334-056 79.31 M35 CHAMBER ASSY WITH SS THR ROLLER

33342-000 1.03 DOVETAIL INSERT M25

33879-012 20.60 TEST PLUG

33879-013 20.60 TEST PLUG

33879-014 20.60 TEST PLUG

33879-015 20.60 TEST PLUG

33879-016 20.60 TEST PLUG

33879-017 41.20 TEST PLUG

33985-001 4.12 THRUST ROLLER INSERT M120 SST

33986-000 1.03 CROSS BAR M120

34027-000 532.51 PORTABLE REGISTER TESTER, EROM & ROM BATTERY OP
UTL-PL-00047-EN-41 (02/25/2025) CONFIDENTIAL AND PROPRIETARY Price List

4



=
=
RB Badger Meter

Part Number
34333-001
34497-005
34513-001
34513-002
34526-001
34529-001
34547-001
34754-001
34776-001
34819-001
34819-002
34819-003
34819-005
34819-006
34819-008
34819-009
34819-037
34819-038
34819-039
34891-001
34899-003
34899-004
34990-004
34990-005
34990-006
34990-017
34990-018
34990-019
34990-020
34990-029
34990-030
34990-031
34990-032
34990-033
34990-035
55001-061
55001-062
55001-063
55001-064
55002-032
55005-028
55005-034
55005-035
55006-035
55007-028
55007-030
55007-034
55007-035
55010-062
55026-173
55026-174
55026-175
55026-176
55026-203
55026-204

UTL-PL-00047-EN-41 (02/25/2025)

List Price
1.03
52.53
41.20
4223
7.73
6.18
0.52
52.53
0.52
3.09
3.09
2.58
3.09
3.09
3.09
3.09
3.09
3.09
3.09
0.52
15.45
15.45
29.87
29.87
36.05
31.93
41.20
36.05
45.32
28.84
29.87
36.05
36.05
43.26
41.20
0.52
1.03
1.29
2.06
1.03
2.58
4.12
5.15
2.58
2.58
3.09
2.06
2.58
2.32
4.12
4.12
4.12
4.12
4.12
4.12

Part Descriptions

SCREEN PLASTIC M25

HSG. TOP PLASTIC M25 3/4 X 9 LL

HSG. TOP PLASTIC M25 5/8 X 1/2 X 7-1/2 LL
HSG. TOP PLASTIC M25 5/8 X 3/4 X 7-1/2 LL
RETAINING RING RCDL M25

HOUSING BOTTOM RCDL M25

STRAP CHAMBER RET. M25, M40

SERVICE T WRENCH, HSG. BTM.

CABLE TIE-STRAIN RELIEF

WASHER KIT 1/2 RUBBER 9/64 THK
WASHER KIT 3/4 RUBBER 1/16 THK
WASHER KIT 1" RUBBER 1/16 THK

WASHER KIT 1/2 RUBBER 1/16 THK
WASHER KIT, 3/4 RUBBER, 5/64 THK
WASHER KIT 3/4 RUBBER 9/64 THK
WASHER KIT 1" RUBBER 9/64 THK

WASHER KIT, 1/2" 90 DURO .14THK
WASHER KIT, 3/4" 90 DURO .14THK
WASHER KIT, 1" 90 DURO .14THK

TAG METER TEST RECORD

GASKET HEAD 2 & 3 TURBO

GASKET HEAD 2 & 3 TURBO

ASSY. STRAIGHT CONN. PLASTIC, 5/8"
ASSY. STRAIGHT CONN. PLASTIC, 3/4"
ASSY. STRAIGHT CONN. PLASTIC, 1"

3/4 BRONZE/PLASTIC SWIVEL ASSEMBLY 2"
1" BRONZE/PLASTIC SWIVEL ASSEMBLY 2"
3/4 BRONZE/PLASTIC SWIVEL ASSEMBLY 2- 1/2"
1" BRONZE/PLASTIC SWIVEL ASSEMBLY 2- 5/8"
CONN,STRT PLS 5/8",ESM

CONN,STRT PLS 3/4"ESM

CONN,STRT PLS 1",ESM

CONN,SWIVEL LG 3/4",BIA-ESM
CONN,SWIVEL LG 1",BIA-ESM
CONN,SWIVEL SH 1",BIA-ESM

NUT HEXAGON 5/8-11

NUT HEXAGON 3/4-10

NUT HEXAGON 7/8-9

NUT HEXAGON 1-8

NUT HEXAGON 4-40

NUT HX 1/4-20 SS 302/304 A276

NUT HEXAGON 5/8-11, 302/304 SS

NUT, HEX 3/4-10 302/304 SS

NUT HEXAGON 8-32

NUT HEXAGON 1/4-20

NUT HEXAGON 3/8-16

NUT HEXAGON 5/8-11 SST 316

NUT HEXAGON 3/4-10

NUT HEXAGON 3/4-10

BOLT HEXAGON HEAD 5/8-11 X 2 STEEL
BOLT HXHD 5/8-11X2-1/4 STL LO

BOLT HEXAGON HEAD 5/8-11 X 2-1/2, STEEL
BOLT HEXAGON HEAD 5/8-11 X 2-3/4, STEEL
BOLT HXHD 3/4-10X2-3/4 STL LO

BOLT HEXAGON HEAD 3/4-10 X 3 STEEL

CONFIDENTIAL AND PROPRIETARY
5

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
55026-205
55026-232
55026-233
55026-263
55026-289
55030-031
55030-166
55030-283
55030-312
55031-004
55031-006
55031-033
55031-060
55031-062
55031-065
55031-116
55031-117
55031-119
55031-172
55031-173
55031-174
55031-175
55031-176
55031-201
55031-203
55031-204
55031-206
55048-220
55048-253
55058-225
55067-060
55090-121
55094-190
55094-191
55094-194
55094-196
55115-001
55115-002
55115-007
55129-168
55202-114
55230-111
55254-017
55254-019
55254-021
55254-023
55254-026
55262-007
55262-011
55262-015
55262-019
55262-021
55294-009
55300-014
55300-016

UTL-PL-00047-EN-41 (02/25/2025)

List Price
4.12
7.21
7.21
7.21
7.21
4.12
4.12
10.30
10.30
4.12
4.12
4.12
4.12
4.12
4.12
7.21
4.12
7.21
7.21
7.21
7.21
7.21
7.21
10.30
7.21
10.30
15.45
1.03
2.06
1.03
2.06
0.52
0.52
0.52
0.52
0.52
1.03
1.03
1.03
2.06
2.06
2.06
0.52
0.52
0.52
0.52
1.03
0.52
1.55
0.52
0.77
1.03
1.03
0.52
0.52

Part Descriptions

BOLT HEXAGON HEAD 3/4 10 X 3-1/4 STEEL
BOLT HXHD 7/8-9X3-1/4 STL LOW

BOLT HEXAGON HEAD, 7/8 9 X 3-1/2 STEEL
BOLT HEXAGON HEAD, 1-8 X 4-1/2 STEEL
BOLT HEXAGON HEAD, 1 1/8-7 X 4" STEEL
HEX HEAD BOLT 6-32X3/4"

BOLT HEXAGON HEAD 3/8-16 X 3/4

BOLT, METER HEAD, FOR 3" FSM

BOLT, HEX CAP, 3/4-10 X 3.00, 302/304 SS
BOLT HEXAGON HEAD 1/4-20 X 3/4 S.ST.
BOLT HEXAGON HEAD 1/4-20 X 1

COVER BOLT, FOR 1-1/2" INTEGRAL STRAINER

HEAD BOLT, W/O SEAL HOLE (3 REQUIRED), 1 1/2" AND 2" RCDL TURBO SERIES

BOLT HEXAGON HEAD 3/8-16 X 1-1/4 S.ST. 316
BOLT HXHD 3/8-16X2 SST 316

BOLT HEXAGON HEAD, W/O SEAL HOLE (3 REQ.) FOR 3"-4" RCDL TURBO SERIES

HEAD BOLT, W/O SEAL HOLE, 6" RCDL TURBO SERIES
BOLT HXHD 1/2-13 X 2" SST 316

HEAD BOLT, WITHOUT SEAL HOLE 5/8-11 X 1-3/4 316SS
BOLT HEXAGON HEAD 5/8-11 X 2 S.ST.
BOLT HEXAGON HEAD 5/8-11X 2-1/4 S.ST.
BOLT HEXAGON HEAD 5/8-11 X 2-1/2 S.ST.
BOLT HEXAGON HEAD 5/8-11 X 2 3/4 S.ST.
BOLT HEXAGON HEAD 3/4-10 X 2-1/4" S.ST.
BOLT, HEX HEAD, 3/4-10 X 2-3/4 SST
STAINLESS STEEL BOLT

BOLT HXHD 3/4-10 X 3-1/2 SST

SCREW FILL. HEAD 10-24 X 3/8 S.ST.
SCREW FILL. HEAD 12-24 X 7/8 S.ST.
SCREW FILL . HEAD #10-32 X 3/4

SCREW FLAT HEAD 2-56 X 1/4 BRASS
SCREW PAN HEAD 4-40 X 3/4

SCREW MACH PHPN 10-24X1/2 SST~
SCREW MACH PHPN 10-24X1.0 SST
SCREW MACH PHPN 1/4-20X3/8SST
SCREW MACH PHPN 10-24X1.125SST
SCREW, 2" & 3" COMPOUND SERIES
SCREW, 4" & 6" COMPOUND SERIES
SCREW MACH PHPN 1/4-20X.75 SST
SCREW BINDING HEAD 6-32 X 1/4 BRASS
SCREW THDFMA/AB PNHD 4-24X1/4
SCREW SET HEXAGON 4-40 X 1/8 S.ST.
WASHER 1/2 NARROW ZN PLT

WASHER 5/8 NARROW ZN PLT

WASHER 3/4 NARROW ZN PLT

WASHER, 7/8" COVER BOLT, FOR 10" FSA
WASHER, 1 1/8 NARROW

WASHER #6 SST 18-8 302/304SAE
WASHER PLAIN FLAT 1/4 S.ST.

WASHER, 3/8 SST 18-8 302/304

WASHER, 5/8, 302/304 SS

WASHER, 3/4, 302/304 SS

SHAKEPROOF WASHER, FOR 3" - 8" FSM
O-RING 1/21.D. 5/8 O.D. 1/16

O-RING, 7/8 1.D. 5/8 O.D. 1/16

CONFIDENTIAL AND PROPRIETARY
6

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
55300-017
55300-022
55300-026
55300-035
55300-040
55300-110
55300-111
55300-255
55300-261
56075-001
56188-001
56328-001
56423-004
56423-005
56423-008
56423-014
56423-015
57335-003
57335-004
57335-005
57335-006
57335-018
57335-031
57335-033
57335-049
57335-051
57335-058
57335-059
57335-060
57335-061
57335-062
57335-063
57335-064
57335-065
57335-066
57335-067
57335-068
57335-069
57335-070
57335-071
57335-072
57335-073
57799-001
57799-003
57800-001
58088-004
58234-002
58321-001
58396-001
58396-002
58404-001
58527-001
58540-001
58586-001
58586-002
58586-003

UTL-PL-00047-EN-41 (02/25/2025)

List Price
2.06
1.03
1.03
6.18
2.06
0.52
4.12
5.15
5.15
98.88
2.06
31.93
0.52
0.77
1.03
4.64
0.52

328.57
391.40
433.63
506.76
438.78
388.31
347.11
608.73
324.45
1,555.30
1,400.80
1,096.95
782.80
927.00
1,905.50
1,302.95
1,169.05
1,483.20
1,333.85
1,091.80
746.75
916.70
1,869.45
1,272.05
1,169.05
8.24
9.79
3.09
13.39
207.03
4.12
4.12
4.12
4.12
5.15
1.03
12.36
13.39
13.39

Part Descriptions

O-RING 11/16 1.D. 13/16 O.D. X 1/16 BUNA

O-RING 11.D. 1-1/8 O.D. X 1/16 BUNA-N

O-RING 1-1/4 1.D. 1-3/8 O.D. X 1/16 BUNA

O-RING 2-1/4 1.D. 2-3/8 O.D. X 1/16 BUNA, MODEL 70

O-RING 2-7/8 1.D. 3 O.D. X 1/16 BUNA, MODEL 120

O-RING 3/8 1.D. 9/16 O.D. X 3/32 BUNA-N

O-RING 7/16 1.D. 5/8 O.D. 3/32 BUNA-N

O-RING 5-5/8 1.D. 5-7/8 O.D. X 1/8 BUNA

O-RING 6-3/4 1.D. 7 O.D. X 1/8 BUNA

RING ADAPTER

STRAP MOD 120 & MOD 170

CAP - BYPASS MOLDING 4 T

CAPLUGS, THRD. PROTEC #20 A

CAPLUGS, THRD. PROTEC #67/230

TAPERED PLUG 2 1/16 DIA BORE

CAP FOR LIFTING LUG THREAD HOLE (2"/3" ONLY)

SECURITY SEAL

ASSY SPOOL PIECE 3 125P.S.I

ASSY SPOOL PIECE 4 125P.S.I

ASSY SPOOL PIECE 4 125P.S.I

ASSY SPOOL PIECE 6 125P.S.I

ASSY SPOOL PIECE 4 125 PSI CI FLG

ASSY SPOOL PIECE 3X4.84 EPOXY

ASSY SPOOL PIECE 3X4.50 EPOXY

ASSY SPOOL PIECE 6X3.21 EPOXY

ASSY SPOOL PIECE 3X6.85 EPOXY

ASSY SPOOL PC 4" X 18.84", FSAA to ESM short, ZINC PLATED HW HALF SET
ASSY SPOOL PC 6" X 26.84", FSAA to ESM short, ZINC PLATED HWHALF SET
ASSY SPOOL PC 8" X 32.84", FSAA to ESM short, ZINC PLATED HW HALF SET
ASSY SPOOL PC 3" X 14.26", FSM to ESM short, ZINC PLATED HW HALF SET
ASSY SPOOL PC 4" X 7.18", FSM to ESM short, ZINC PLATED HW HALF SET
ASSY SPOOL PC 6" X 12.15", FSM to ESM short, ZINC PLATED HW HALF SET
ASSY SPOOL PC 8" X 16.37", FSM to ESM short, ZINC PLATED HW HALF SET
ASSY SPOOL PC 8" x 21.72", CMB to ESM short, ZINC PLATED HW HALF SET
ASSY SPOOL PC 4" X 18.84", FSAA to ESM short, SS HW HALF SET

ASSY SPOOL PC 6" X 26.84", FSAA to ESM short, SS HW HALF SET

ASSY SPOOL PC 8" X 32.84", FSAA to ESM short, SS HW HALF SET

ASSY SPOOL PC 3" X 14.26", FSM to ESM short, SS HW HALF SET

ASSY SPOOL PC 4" X 7.18", FSM to ESM short, SS HW HALF SET

ASSY SPOOL PC 6" X 12.15", FSM to ESM short, SS HW HALF SET

ASSY SPOOL PC 8" X 16.37", FSM to ESM short, SS HW HALF SET

ASSY SPOOL PC 8" x 21.72" CMB to ESM short, SS HW HALF SET

HOUSING BOTTOM IRON-PAINTED, MODEL 25

HOUSING BOTTOM M25 - RECLAIMED WATER

LINER, M25 & M40

SEAL BOLT 5/8-11 X 1.75

HOOD ASSY. COMPLETE FOR 258 REGISTER

SCREW, SEAL 10-24 X 3/4

BOLT HEX, WASHER HD. 5/16-18 UNC-2A, MODEL 25

BOLT HEX WASHER HD 5/16-18 W/SEAL HOLE

GASKET, 258 REGISTER COVER

COMPRESSION & LOCKING NUTS

STRAP CHAMBER RET. RCDL M15, M25, & M35 BRZ.

STUD 5/8-11 X 3.00 S.S. 303

STUD 5/8-11 X 3.50 S.S. 303

STUD 5/8-11 X 3.25 S.S. 303

CONFIDENTIAL AND PROPRIETARY
7

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
58586-004
58647-001
58664-001
58769-001
58770-001
58852-001
58855-001
58867-009
58867-010
58965-001
58971-001
59004-002
59058-001
59186-001
59215-039
59215-067
59293-002
59293-003
59487-001
59487-002
59487-004
59487-006
59487-007
59487-008
59487-009
59487-010
59487-018
59525-001
59525-004
59542-001
59568-001
59568-003
59652-001
59669-001
59677-001
59696-001
59698-002
59701-014
59701-015
59703-006
59717-020
59717-021
59717-022
59719-005
59720-001
59722-001
59732-001
59733-001
59743-001
59746-001
59746-002
59752-001
59759-001
59759-002
59782-001

UTL-PL-00047-EN-41 (02/25/2025)

List Price
20.60
23.69
122,57

3.09
4.12
35.02
6.18
134.93
541.78
1.03
8.24
30.90
4.12
6.18
10.30
10.30
22.66
22.66
44.29
77.25
74.16
123.60
198.79
92.70
187.46
197.76
187.46
7.21
12.36
4.12
1.03
1.03
1.55
1.03
3.09
4.12
6.18
637.57
696.28
92.70
428.48
445.99
445.99
234.84
3.61
8.24
4.12
4.12
2.06
11.33
11.33
3.35
1.03
1.03
1.03

Part Descriptions

STUD 3/4-10 X 3.75 S.S. 303

REGISTER COVER, BRONZE

WOODEN SCRAP CRATE

GASKET, HOUSING BOTTOM, M70

LINER, HOUSING BOTTOM, M70

COVER MOLDING

GASKET, HSG, RSC 420 SIGNAL CONVERTER
M70 1" BIA

HOUSING, M70

THRUST ROLLER (NYLON), MODELS 25 & 35
PLUG TAMPER

RESISTOR ASSEMBLY

5/16 SEAL BOLT, S.ST., MODELS 25, 35, & 40
SCREEN, PLASTIC, 70TL

EYE BOLT SERVICE

EYE BOLT, HEAD, 10-20"

HOUSING BOTTOM, C. ., PAINTED, MODEL 70
HOUSING BOTTOM R70 RECLAIMED WATER
STRAINER ACCY. KIT ELL. FLANGE 2
STRAINER ACCY. KIT ROUND FLANGE 2 150#
STRAINER ACCY. KIT ROUND FLANGE 3 150#
STRAINER ACCY. KIT ROUND FLANGE 4 150#
STRAINER ACCY. KIT ROUND FLANGE 6 150#
STRAINER ACCY. KIT ROUND FLANGE 8 125#
STRAINER ACCY. KIT ROUND FLANGE 10 125#
STRAINER ACCY. KIT ROUND FLANGE 12 125#
ACCESSORY KIT, 6' FSA

BASE RING MACH

BASE RING MACH W/LOCK HASP

RETAINER, FLAT

HINGE PIN, BRONZE CLAMP RING

ROLL PIN .750LG .138/.131 STD

THRUST ROLLER - PLASTIC

CROSS BAR M170

3" SWIVEL COUPLING GASKET F.H.

THRUST ROLLER INSERT M170 SST
MAGNET & SPINDLE ASSY

HOUSING MACH W/TP M170 SHRT 2" BIA
HOUSING MACH W/T.P. M170 TL 2" BIA
HOUSING BOTTOM, MACH, BIA 1" M70
HOUSING MACH 170TL 2"HEX BIA

HOUSING MACH 170TL SHORT 2"ELL BIA
HOUSING MACH 170TL LONG 2"ELL BIA
HOUSING TOP MACH. M170 BIA

SCREEN, MODEL 170

GASKET, MODEL 170

BOLT SEAL 7/16-14 X 1-1/4, MODELS 120 TL & 170 TL
BOLT SEAL 3/8-16 X 1

DOVETAIL INSERT M35

THRUST ROLLER S.ST., MODEL 70

THRUST ROLLER - M120

COVER WIRE, A+ GAS GRAY

EAR CLAMP

EAR CLAMP

GASKET, HOUSING BOTTOM, M35

CONFIDENTIAL AND PROPRIETARY
8

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
59784-005
59785-001
59785-003
59786-001
59805-001
59807-006
59809-009
59809-010
59833-001
59846-001
59945-057
59983-001
59989-001
59991-001
60238-001
62037-002
62071-001
62084-001
62085-001
62115-001
62171-001
62172-001
62175-028
62175-029
62175-030
62175-031
62175-032
62176-001
62278-001
62278-002
62278-003
62278-004
62279-003
62279-005
62279-009
62280-002
62280-003
62280-004
62303-020
62303-021
62335-001
62346-001
62353-001
62359-001
62440-001
62442-001
62446-001
62454-002
62455-001
62516-001
62516-002
62576-001
62616-001
62624-001
62635-005

UTL-PL-00047-EN-41 (02/25/2025)

List Price
32.96
10.30
11.33
3.09
2.32
88.58
93.73
99.91
4.12
11.33

1,114.46
129.78
117.42
103.00

0.52
24411
18.54
4.12
5.15
29.87
3.35
4.12
291.49
303.85
304.88
304.88
311.06
157.59
1.55
1.55
1.55
1.55
6.18
3.09
3.09
5.15
2.06
2.06
67.98
67.98
2.06
17.51
6.18
0.52
493.37
12.36
9.27
1.03
4.12
1.03
1.03
13.39
20.60
1.03
21.63

Part Descriptions

HOUSING BOTTOM MACH M35 BIA

HOUSING BOTTOM, IRON PAINTED, M35

HOUSING BOTTOM R35 RECLAIMED WATER

LINER, HOUSING BOTTOM, M35

SCREEN, M35

HOUSING MACH M35 SHORT BIA

HOUSING MACH M35 LONG BIA

HOUSING MACH M35 LONG BIA

ENCLOSURE GASKET, FULL FEATURE & TRACE REMOTE
THRUST ROLLER SST M-170

MODEL 170 HD 2" METER FOR FSAA

E-9E CRIMPING TOOL

COAX CABLE STRIPPER

PLIERS, WIRE CUTTER

NYLON TIE

2" SILENT SEAT CHECK VALVE W/S.ST. SPRINGS
INSTALLATION KIT (PIT HRT)

FIELD SPLICE KIT

SPLICE ENCLOSURE

SPANNER WRENCH

HOUSING GASKET, MODEL 120

SCREEN, RCDL MODEL 120

HOUSING MACH HEX R120 1-1/2 BIA

HOUSING MACH EL.SH R120 1-1/2 BIA

HOUSING MACH EL.LG R120 1-1/2 BIA

HOUSING EL.SH R120 1-1/2 W/TP BIA

HOUSING EL.LG R120 1-1/2 W/TP BIA

COVER, HSG. TOP, RCDL 120

REGISTER COVER, FLAT, PLASTIC (BLACK)

REGISTER COVER (LIGHT GRAY, MEXICO REGISTERS ONLY)
COVER, FLAT, PLASTIC (MEDIUM GRAY, LOCAL)

COVER, FLAT, PLASTIC (MEDIUM GRAY, HRE)

PLASTIC SHROUD (BOTTOM HALF) (RECLAIMED)
SHROUD, BOTTOM (LIGHT GRAY, MEXICO REGISTERS ONLY)
SHROUD, BOTTOM (MEDIUM GRAY, HRE, LOCAL)
PLASTIC SHROUD (TOP HALF) (RECLAIMED)

SHROUD TOP (LIGHT GRAY, MEXICO ONLY)

SHROUD TOP (MEDIUM GRAY, HRE, LOCAL)

M25 3/4" BIA

HOUSING MACH M25 5/8 BIA

SEAL SCREW,TAMPER RESISTANT,STANDARD, (LOCAL REG.)
DISASSEMBLY TOOL

COVER, FLAT (BRONZE)

SCREW ANCHOR

BELDON 8451 WIRE 2000' ROLL, FOR RTR-RT

FLAT LID, BRONZE SHROUD

REGISTER TEST RING, THERMOPLASTIC

TORX SCREW FOR IT BRACKET

INSERT, PLASTIC, FOR FLAT LID,BRONZE SHROUD
SEAL SCREW,TORX, TAMPER RESISTANT, (LOCAL REG.)
SEAL SCREW, TORX, TAMPER RESISTANT, (GEN. REG.)
BATTERY FOR ER6 AND ER7

SHROUD, ASSEMBLY, BRONZE

SEAL SCREW,TAMPER RESISTANT,STD, (ROM GEN REG &HRT)
HOUSING BOTTOM, MACH. BIA, M25

CONFIDENTIAL AND PROPRIETARY
9

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
62657-001
62658-001
62658-003
62658-005
62658-006
62696-001
62698-001
62704-003
62740-001
62748-006
62748-007
62749-005
62749-006
62754-001
62754-002
62754-003
62754-004
62754-005
62755-038
62755-039
62755-040
62755-041
62755-042
62755-043
62755-044
62764-006
62764-007
62765-005
62765-006
62777-001
62793-001
62825-001
62837-005
62837-006
62838-001
62924-001
62924-002
62924-003
62924-004

62947-001
62968-001
62976-005
62976-007
62976-018
62976-019
62976-031
62976-044
62976-047
62976-049
62976-050
62994-001
63000-001
63000-002
63003-007
63004-001

UTL-PL-00047-EN-41 (02/25/2025)

List Price
5.15
23.69
25.75
20.60
2163
5.15
40.17
124.63
13.39
824.00
824.00
618.00
618.00
1.03
7.21
7.21
21.63
16.48
394.49
394.49
1,236.00
1,462.60
394.49
394.49
2,024.98
770.44
1,124.76
1,467.75
1,467.75
4.12
4.12
7.73
2,266.00
2,266.00
1.03
7.21
7.21
7.21
7.21
721.00
0.10
1.03
1.03
32.96
32.96
21.63
4.12
92.70
2.06
2.06
339.90
234.84
234.84
31.93
187.46

Part Descriptions

TORX BIT INSERT, LOCAL REG., ROM GEN, & HRT - T10
SCREWDRIVER,TORX SEAL,STUBBY,LOC. REG, ROM GEN.&HRT - T-10
SCREWDRIVER,TORX SEAL, LONG, LOCAL REG, ROM GEN & HRT - T-10
TAMPER RESIST SCREWDRIVER, STUBBY (HOLDER ONLY)
TAMPER RESIST SCREWDRIVER, STD. (HOLDER ONLY)
PLASTIC LID & SHROUD ASSEMBLY

BRONZE LID & SHROUD ASSEMBLY & INSERT

SERVICE KIT FT-420

REGISTER FLAT LID (PURPLE) (RECLAIMED)

HOUSING, 2"

HOUSING, 2"

HOUSING, 2" - BIA

HOUSING, 2" - BIA

O-RING, CALIBRATION SHAFT, 1 1/2" - 6" RCDL TURBO SERIES
O-RING, HEAD, 1 1/2" AND 2" RCDL TURBO SERIES

O-RING, HEAD, 3" AND 4" RCDL TURBO SERIES

O-RING, HEAD, 6" RCDL TURBO SERIES

O-RING, HEAD, 8" RCDL TURBO SERIES

SERVICE ELEMENT TURBO 1-1/2"

SERVICE ELEMENT TURBO 3"

SERVICE ELEMENT TURBO 6"

SERVICE ELEMENT TURBO 8"

SERVICE ELEM 1-1/2 -2" UL

SERVICE ELEMENT TURBO 4"

SERVICE ELEMENT TURBO 10-12"

HOUSING, 3" RCDEL TURBO SERIES, BIA

HOUSING, 3" RCDL TURBO SERIES - BIA

HOUSING, 4" RCDL TURBO SERIES - BIA

HOUSING, 4" RCDL TURBO SERIES - BIA

BOLT, HEX INDENTED, 5/16-18 X .88

SEAL PLUG, CALIBRATION SHAFT, 1 1/2" - 6" RCDL TURBO SERIES
LOCK NUT W_GUSSETS

HOUSING, 6" RCDL TURBO SERIES - BIA

HOUSING, 6" RCDL TURBO SERIES - BIA

GASKET FOR GAS RT

CAGE SEAL, 1 1/2" AND 2" RCDL TURBO SERIES

CAGE SEAL, 3" AND 4" RCDL TURBO SERIES

CAGE SEAL, 6" RCDL TURBO SERIES

CAGE SEAL, WP-N 8"

HOUSING ASSY SERVICE 2" & 3"

LABEL, BARCODE 1.75 X .75

CAGE SETSCREW (1 REQUIRED), 1 1/2" & 2" RCDL TURBO SERIES
CAGE/NOSE CONE SETSCREWS (2 REQUIRED) 1 1/2" - 4" RCDL TURBO SERIES
MAGNET CARRIER, 1 1/2" AND 2" RCDL TURBO SERIES
MAGNET CARRIER, 3" AND 4" RCDL TURBO SERIES
CALIBRATION GEAR, 6" RCDL TURBO SERIES

SCREW F INSERT BODY, WP-N, 8" - 12" RCDL TURBO SERIES
MAGNET COUPLER, CPU, WP-N, 8" - 12", RCDL TURBO SERIES
WASHER, SPRING, WP-N, 8" - 12", RCDL TURBO SERIES
SCREW, WP-N, 6" - 12", RCDL TURBO SERIES

FIRE HOSE & COUPLING, 2-1/2"

FIRE HOSE REDUCER

FITTING 2-1/2MNPTX2-1/2MNST LL

BUSHING, 2" X 1" NPT, FOR 3" - 8" FSM

REDUCER / NIPPLE ASSEMBLY

CONFIDENTIAL AND PROPRIETARY
10

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
63006-001
63016-001
63018-001
63047-001
63115-001
63122-001
63125-005
63126-005
63127-005
63128-007
63129-001
63131-001
63177-011
63177-012
63177-015
63180-001
63180-011
63220-003
63233-003
63247-022
63247-025
63247-030
63277-001
63281-003
63283-001
63283-002
63285-001
63295-003
63296-003
63304-004
63320-004
63355-003
63527-001
63542-001
63542-002
63542-003
63542-005
63623-063
63623-065
63705-004
63705-007
63769-005
63769-006
63769-008
63769-009
63769-016
63886-001
63886-003
63886-006
63886-007
63886-009
63886-010
63886-012
63886-014
63886-015

UTL-PL-00047-EN-41 (02/25/2025)

List Price
187.46
1,336.94
187.46
412.00
20.60
1.03
520.15
543.84
989.83
1,176.26
17.51
81.37
1.03
1.03
92.70
181.28
302.82
608.73
31.93
25.75
25.75
25.75
20.60
71.07
28.84
28.84
75.19
804.43
804.43
3,952.11
1,236.00
5,671.18
6.18
25.75
25.75
25.75
25.75
45.32
76.22
16.48
17.51
199.82
330.63
742.63
649.93
167.89
69.01
105.06
114.33
73.13
105.06
77.25
83.43
38.11
4223

Part Descriptions

REDUCER / NIPPLE ASSEMBLY

PLMT ACCESSORY KIT

REDUCER / NIPPLE ASSEMBLY

HOUSING, FOR 3" FH METER

SCREEN, FOR 1-1/2" INTEGRAL STRAINER
ROTO-SEAL

HOUSING MACH W/ STRAINER TURBO 1-1/2" BIA
HOUSING MACH ELL W/ ST TS2" W/ TP BIA
HOUSING MACH W/ STRAINER TS 3" BIA

HOUSING MACH W/ STRAINER TS1000 BIA
HANDLE, FOR 3" FH METER

SCREEN, FOR 3" FH METER

CAGE SETSCREW, 6" RCDL TURBO SERIES
WASHER, 6" RCDL TURBO SERIES

MAGNET COUPLER, CPU, WP-N, 6", RCDL TURBO SERIES
CONNECTION ASSEMBLY, SWIVEL, 2 1/2 - 7 1/2 NH, FOR 3" FH METER
CONNECTION ASSEMBLY, SWIVEL, 2 1/2, (SPECIAL)
HOUSING MACH RND W/ ST TS2" W/ TP BIA

COVER STRAINER CAST T200 2" BIA

M35 REGISTER M3 NOM

M120 REGISTER M3 NOM

M55 REGISTER M3 NOM

SCREEN, FOR 2" INTEGRAL STRAINER

COVER, STRAINER, 3" TSM (BIA)

SCREEN, FOR 3" INTEGRAL STRAINER

3" STRAINER SCREEN

SCREEN, FOR 4" INTEGRAL STRAINER

HOUSING MACH,ROUND 2" STRAINER BIA
HOUSING MACH,ELLIP 2" STRAINER BIA

HOUSING, ROUND FLANGE, WITH TEST PLUG - BIA
HOUSING STRAINER, 4" MACH BIA

HOUSING, ROUND FLANGE, WITHOUT TEST PLUG - BIA
GROUNDING CABLE, 9" 12 GA.

T-200 REGISTER M3 NOM

T-450 REGISTER M3 NOM

REG. ASSY. T1000 1 M3 NOM

5-3500 REGISTER M3 NOM

ITRON 25' ILC EXTENSION HARNESS

KIT,100W TTL REM MTG ANT-ITRON

REMOTE BADGER TOUCH MODULE (ROUND) W/ INSTALLATION KIT
REMOTE BADGER TOUCH MODULE (ROUND) W/ INSTALLATION KIT W/ TORX SCREW
VALVE/NIPPLE, 1-1/2 NPT X 3-1/2

VALVE/NIPPLE, 2 NPT X 2

VALVE/NIPPLE, 3 NPT X 2"

VALVE ASSY, FSA DCV 4"-6"

VALVE/NIPPLE, 1" NPT X 6

NIPPLE, 2 X 5" NPT ONE END

NIPPLE, 1.5 X 3-5/8" NPT ONE END

NIPPLE, HALF 2"X11"

NIPPLE, HALF 2" X 7"

NIPPLE, 2 X 9" NPT, ONE END

NIPPLE, 2X5-3/4" NPT ONE END

NIPPLE, 2 X 6-1/2" NPT ONE END

NIPPLE, 1 X 3-1/4 NPT, ONE END

NIPPLE, 1-1/2X4-1/2 NPT ONE END

CONFIDENTIAL AND PROPRIETARY
11

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
63887-008
63887-009
63889-001
63889-011
63889-012
63889-013
63891-001
63892-001
63892-002
63892-003
63892-006
63892-007
63892-008
63892-013
63892-014
63892-015
63892-016
63892-017
63892-018
63892-019
63892-020
63892-021
63892-022
63892-023
63892-024
63892-030
63892-031
63892-033
63892-034
63892-035
63892-036
63892-037
63892-038
63892-041
63892-048
63892-050
63892-052
63892-054
63892-055
63892-058
63893-002
63894-001
63894-002
63894-003
63961-002
63961-003
63961-004
63961-005
63961-007
63961-008
63961-010
63961-011
63961-012
63961-014
63961-016

UTL-PL-00047-EN-41 (02/25/2025)

List Price
176.13
87.55

1,265.87
1,618.13
3,104.42
4,665.90
2.06
668.47
731.30
811.64
371.83
80.34
70.04
2.06
10.30
11.33
14.42
3.09
1.03
21.63
23.69
24.72
93.73
130.81
159.65
934.21
1,047.51
62.83
51.50
56.65
439.81
573.71
719.97
29.87
338.87
19.57
21.63
601.52
77.25
62.83
906.40
33.99
14.42
15.45
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75

Part Descriptions

COUPLING REPAIR 2" LL STYLE 1
COUPLING REPAIR 1" LL STYLE 1
DETECTOR CHECK VALVE, 4" AMES

CHECK VALVE ASSY 6"

DETECTOR CHECK VALVE 8" AMES

CHECK VALVE ASSY 10"

JAM NUT, 3/4-10 S.ST.

KNUCKLE JOINT ASSY - 4"

KNUCKLE JOINT ASSY - 6"

KNUCKLE JOINT ASSY - 8" & 10"

CLAPPER PLATE WITH ATTACHED LINK - 8" & 10"
SPRING - 4"

SPRING - 6", 8" & 10"

RETAINER CLIP 8-10 DCV(E-CLIP)

O-RING SEATE - 4"

O-RING SEATE - 6"

O-RING SEATE - 8" & 10"

NEOPRENE WASHER

NYLON WASHER

GASKET - CHECK VALVE 4"

GASKET - CHECK VALVE 6"

GASKET - CHECK VALVE 8" & 10"

CHECK REMOVAL TOOL - 4"

CHECK REMOVAL TOOL - 6"

CHECK REMOVAL TOOL - 8" & 10"
STRAINER ELEMENT - 6"

STRAINER ELEMENT - 8"

STRAINER COVER O-RING 16"

COVER O-RING - 8"

COVER O-RING - 10"

CHECK VALVE COVER - 4"

CHECK VALVE COVER - 6"

CHECK VALVE COVER - 8"

COVER O-RING 4"

SCREEN 8" PLATE STRAINER

STRAINER COVER O-RING 8"

STRAINER COVER O-RING 10"

SCREEN - 12" PLATE STRAINER

O-RING COVER, 12" PLATE STRAINER
STRAINER COVER O-RING 20"

SPOOL PIECE 8" COMBO MTR LONG

STUD, CONTINUOUS THREAD, 3/4-10 X 2.75 S.ST.
STUD CONTINUOUS THREAD, 5/8-11X5.00 S.ST
STUD, CONTINUOUS THREAD, 5/8-11X7.00S.ST.
REG RCDL M25 10GAL 6 OC

ASSY. STR. REG. RCDL 25, 1 CUFT T. CIR.
ASSY. STR. REG. RCDL 40, 10 GAL T. CIR.
ASSY. STR. REG. RCDL 40, 1 CUFT T. CIR.
ASSY. STR. REG. RCDL 25, .1 M3 T. CIR.
ASSY. STR. REG. RCDL 40, .1 M3 T. CIR.
ASSY. STR. REG. RCDL 70, 10 CU FT T. CIR.
ASSY. STR. REG. RCDL 120, 100 GAL T. CIR.
ASSY. STR. REG. RCDL 120, 10 CUFT T. CIR.
ASSY. STR. REG. RCDL 120, 1 M3 T. CIR.
ASSY. STR. REG. RCDL 25, 10 IMP. GAL T. CIR.

CONFIDENTIAL AND PROPRIETARY
12

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
63961-019
63961-035
63961-037
63961-045
63961-057
63961-058
63961-059
63961-060
63961-061
63961-062
63961-068
63961-069
63961-070
63961-074
63961-075
63961-076
63961-088
63961-089
63961-090
63961-091
63961-092
63961-094
63961-095
63961-096
63961-097
63961-098
63961-146
63961-147
63961-148
63961-153
63961-154
63961-155
63961-156
63961-157
63961-158
63961-159
63961-160
64063-001
64063-002
64063-003
64063-004
64063-005
64063-006
64063-007
64063-008
64063-009
64063-010
64063-011
64063-012
64063-017
64063-018
64063-019
64063-020
64063-021
64063-022

UTL-PL-00047-EN-41 (02/25/2025)

List Price
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75

Utility Service Parts

Part Descriptions

ASSY. STR. REG. RCDL 120, 100 IMP. GAL T. CIR.

ASSY. STR. REG. RCDL 25, .01 M3 T. CIR. INTERNATIONAL

ASSY. STR. REG. RCDL 120, .1 M3 T. CIR. INTERNATIONAL

ASSY. STR. REG. RCDL 120, 1 M3 T. CIR. 1-6 BLK

ASSY. STR. REG. RCDL 170, 100 GAL T. CIR.

ASSY. STR. REG. RCDL 170, 10 CU FT T. CIR.

ASSY. STR. REG. RCDL 170, 1 M3 T. CIR.

ASSY. STR. REG. RCDL 35, 10 GAL T. CIR.

ASSY. STR. REG. RCDL 35,1 CUFTT.CIR.

ASSY. STR. REG. RCDL 35,.1 M3 T.CIR.

ASSY. STR. REG. RCDL 70, 10 GAL T.CIR.

ASSY. STR.REG.RCDL 70 1 CUFTT.CIR.

ASSY. STR. REG. RCDL 70 .1 M3 T. CIR.

ASSY. STR. REG. RCDL 35, 10 IMP. GAL T.CIR.

ASSY. STR. REG. RCDL 70, 10 IMP. GAL T.CIR.

ASSY. STR. REG. RCDL 170, 100 IMP. GAL. T.CIR.

ASSY. STR. REG. RCDL 25, 10 GAL T. CIR. (RECLAIMED)

ASSY. STR. REG. RCDL 35, 10 GAL T. CIR. (RECLAIMED)

ASSY. STR. REG. RCDL 70, 10 GAL T. CIR. (RECLAIMED)

ASSY. STR. REG. RCDL 25, 1 CU FT T. CIR (RECLAIMED)

REG RCDL M35 1FT3 OC

ASSY. STR. REG. RCDL 70, 1 CU FT T. CIR. (RECLAIMED)

ASSY. STR. REG. RCDL 120, 100 GAL T. CIR. (RECLAIMED)

ASSY. STR. REG. RCDL 120, 10 CU FT T. CIR. (RECLAIMED)

ASSY. STR. REG. RCDL 170, 100 GAL T. CIR. (RECLAIMED)

ASSY. STR. REG. RCDL 170, 10 CU FT T. CIR. (RECLAIMED)

ASSY. STR. REG. RCDL 170, 100 GAL T. CIR. 1 WHT; 2-6 BLK

ASSY. STR. REG. RCDL 170, 10 CU FT T. CIR. 1 WHT; 2-6 BLK

ASSY. STR. REG. RCDL 170, 1 M3 T. CIR. 1-6 BLK

REGISTER ASSEMBLY - M55 - GALLONS

REGISTER ASSEMBLY - M55 CU FT

REGISTER ASSEMBLY - CU METERS

REGISTER ASSEMBLY - M55 - IMP GALLONS

REGISTER ASSEMBLY (RECLAIMED) M55 - GALLONS

REGISTER ASSEMBLY (RECLAIMED) -M55 CU FT

REG ASSY. US GALLONS (LP STYLE)

REG ASSY. CU FEET (LP STYLE)

HIGH FLOW REGISTER, 100 GAL. T.C., 2" COMPOUND SERIES

HIGH FLOW REGISTER, 100 GAL. T.C., 3" COMPOUND SERIES

HIGH FLOW REGISTER, 100 GAL. T.C., 4" COMPOUND SERIES

HIGH FLOW REGISTER, 1000 GAL. T.C., 6" COMPOUND SERIES

HIGH FLOW REGISTER, 10 CUBIC FT. T.C., 2" COMPOUND SERIES
HIGH FLOW REGISTER, 10 CUBIC FT. T.C., 3" COMPOUND SERIES
HIGH FLOW REGISTER, 10 CUBIC FT. T.C., 4" COMPOUND SERIES
HIGH FLIOW REGISTER, 100 CUBIC FT. T.C., 6" COMPOUND SERIES
HIGH FLOW REGISTER, 1 CUBIC METER T.C., 2" COMPOUND SERIES
HIGH FLOW REGISTER, 1 CUBIC METER T.C., 3" COMPOUND SERIES
HIGH FLOW REGISTER, 1 CUBIC METER T.C., 4" COMPOUND SERIES
HIGH FLOW REGISTER, 10 CUBIC METER, T.C., 6" COMPOUND SERIES
LOW FLOW REGISTER, 10 GAL. T.C., 2" & 3" COMPOUND SERIES
REG. ASSY. CS, 4"/6" 10 GAL. LF

LOW FLOW REGISTER, 1 CUBIC FT. T.C., 2" & 3" COMPOUND SERIES
LOW FLOW REGISTER, 1 CUBIC FT. T.C., 4" & 6" COMPOUND SERIES
LOW FLOW REGISTER, 0.1 CUBIC METER, 2" & 3" COMPOUND SERIES
LOW FLOW REGISTER, 0.1 CUBIC METER, 4" & 6" COMPOUND SERIES

CONFIDENTIAL AND PROPRIETARY Price List
13



=
=
RB Badger Meter

Part Number
64066-002
64070-003
64078-001
64080-001
64081-001
64083-002
64083-003
64083-006
64083-007
64083-008
64083-009
64083-010
64083-011
64083-015
64085-001
64085-002
64085-003
64085-004
64085-005
64085-006
64085-007
64085-008
64085-009
64085-010
64085-011
64085-012
64085-014
64085-015
64085-016
64085-017
64085-018
64085-019
64085-020
64085-021
64085-022
64085-023
64085-024
64085-025
64085-031
64085-032
64085-033
64085-034
64085-035
64085-036
64085-037
64085-038
64085-039
64085-040
64085-041
64085-042
64085-043
64085-044
64085-047
64085-048
64085-050

UTL-PL-00047-EN-41 (02/25/2025)

List Price
122,57
295.61

2.06
15.45
4.12
1.03
8.76
1.03
7.21
1.03
11.33
1.03
12.36
9.27
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75
25.75

Part Descriptions

VALVE ASSY, 3" CS400 S. KIT

MACHINED COVER (BIA) 3"

LOCK PAWL, 2" - 6" COMPOUND SERIES

COVER PLATE, 2" & 3" COMPOUND SERIES

SCREEN, 2" & 3" COMPOUND SERIES

O-RING, EPDM, 3" COMPOUND SERIES

O-RING, EPDM, 3" COMPOUND SERIES

O-RING, EPDM, 2" COMPOUND SERIES

O-RING, EPDM, 2" COMPOUND SERIES

O-RING, EPDM, 4" COMPOUND SERIES

O-RING, EPDM, 4" COMPOUND SERIES

O-RING, EPDM, 6" COMPOUND SERIES

O-RING, EPDM, 6" COMPOUND SERIES

O-RING

REGISTER, 100 GAL. T.C., 1 1/2" RCDL TURBO SERIES
REGISTER, 100 GAL. T.C., 2" RCDL TURBO SERIES

REGISTER, 100 GAL. T.C., 3" RCDL TURBO SERIES

REGISTER, 100 GAL. T.C., 4" RCDL TURBO SERIES

REGISTER, 10 CUBIC FT. T.C., 1 1/2" RCDL TURBO SERIES
REGISTER, 10 CUBIC FT. T.C., 2" RCDL TURBO SERIES
REGISTER, 10 CUBIC FT. T.C., 3" RCDL TURBO SERIES
REGISTER, 10 CUBIC FT. T.C., 4" RCDL TURBO SERIES
REGISTER, 1 CUBIC METER T.C., 1 1/2" RCDL TURBO SERIES
REGISTER, 1 CUBIC METER T.C., 2" RCDL TURBO SERIES
REGISTER, 1 CUBIC METER T.C., 3" RCDL TURBO SERIES
REGISTER, 1 CUBIC METER T.C., 4" RCDL TURBO SERIES
REGISTER, 100 IMPERIAL GAL. T.C., 2" RCDL TURBO SERIES
REGISTER, 100 IMPERIAL GAL. T.C., 3" RCDL TURBO SERIES
REGISTER, 100 IMPERIAL GAL. T.C., 4" RCDL TURBO SERIES
REGISTER, 1,000 GAL, T.C., 6" RCDL TURBO SERIES
REGISTER, 1,000 GAL. T.C., 8" RCDL TURBO SERIES
REGISTER, 1,000 GAL. T.C., 10" RCDL TURBO SERIES
REGISTER, 100 CUBIC FT., T.C., 6" RCDL TURBO SERIES
REGISTER, CUBIC FT, T.C., 8" RCDL TURBO SERIES
REGISTER, 100 CUBIC FT., T.C., 10" RCDL TURBO SERIES
REGISTER, 10 CUBIC METER, T.C., 6" RCDL TURBO SERIES
REGISTER, 10 CUBIC METER, T.C., 8" RCDL TURBO SERIES
REG T5500 10M3 6 OC

REGISTER, 100 GAL., 1-1/2" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 100 GAL., 2" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 100 GAL., 3" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 100 GAL., 4" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 10 CU. FT., 1-1/ 2" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 10 CU. FT., 2" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 10 CU. FT., 3" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 10 CU. FT., 4" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 1,000 GAL., 6" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 100 CU. FT., 6" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 1,000 GAL., 8" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 100 CU. FT., 8" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 10,000 GAL., 12" RCDL TURBO SERIES

REGISTER, 1,000 CU. FT., 12" RCDL TURBO SERIES
REGISTER, 10,000 GAL., 12" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 1,000 CU. FT., 12" RCDL TURBO SERIES (RECLAIMED)
REGISTER, 100 CU. FT., 10" RCDL TURBO SERIES (RECLAIMED)

CONFIDENTIAL AND PROPRIETARY
14

Utility Service Parts



=
=
-B Badger Meter

Part Number
64085-064
64085-065
64085-066
64105-003
64107-003
64109-005
64111-003
64113-005
64115-003
64127-003
64128-002
64131-002
64134-002
64141-001
64142-001
64151-005
64153-001
64153-005
64159-001
64159-004
64159-005
64177-005
64177-006
64181-003
64182-003
64186-001
64186-002
64186-003
64199-001
64236-001
64238-002
64343-001
64343-002
64343-004
64389-003
64394-003
64394-008
64394-009
64394-023
64394-029
64394-030
64394-031
64394-032
64421-001
64428-001
64436-010
64436-011
64436-022
64436-027
64436-029
64436-030
64436-031
64436-032
64436-036
64436-037

UTL-PL-00047-EN-41 (02/25/2025)

List Price
25.75
25.75
25.75

1,302.95
539.72
2,228.92
372.86
4,070.56
530.45
1,302.95
80.34
154.50
203.94
24.72
4.12
1,006.31
534.57
4.12
45.32
55.62
23.69
1,184.50
1,184.50
229.69
632.42
231.75
267.80
556.20
425.39
9.27
18.54
1,399.77
1,399.77
1,399.77
25.75
7.21
6.18
5.15
29.87
6.18
6.18
2.06
10.30
58.71
10.30
56.65
17.51
131.84
4223
54.59
311.06
76.22
131.84
394 .49
181.28

Part Descriptions

REG COMP PLMT 60'C 100 GAL 3"

REG COMP PLMT 60'C 10 FT3 3"

REG COMP PLMT 60'C 1 M3 3"

HOUSING, 2" COMPOUND SERIES, ROUND FLANGE BIA
MACHINED COVER, 2" COMPOUND SERIES BIA

HOUSING, 4" COMPOUND SERIES BIA

MACHINED COVER (BIA) - 4"

HOUSING, 6" COMPOUND SERIES BIA

MACHINED COVER (BIA) - 6"

HOUSING, 2" COMPOUND SERIES - ELLIP FLANGE BIA
VALVE ASSEMBLY, 2" CS170 S.KIT

VALVE ASSEMBLY, 4" CS800 S.KIT

VALVE ASSEMBLY,6" CS1500 S.KIT

COVER PLATE, 4" & 6" COMPOUND SERIES

SCREEN, 4" & 6" COMPOUND SERIES

HOUSING, 3' STRAINER

1,000 WIRE

CABLE - BELDON #9770 PER FOOT

TEE, BRASS 2" FEMALE

TEE, 2" 316SS

TEE, 1" 316SS

HOUSING, M170 2" HD BIALLOY

HOUISNG, M170 1.5" HD BIALLOY

HOUSING, BOTTOM M70 HD BIALLOY

HOUSING, TOP M170 HD BIALLOY

FLANGE ADAPTER KIT (2" ELLIPTICAL FL.), 2 COMPOUND SERIES
FLANGE ADAPTER KIT (ROUND FL.), 2" COMPOUND SERIES
FLANGE ADAPTER KIT (ROUND FL.), 4" COMPOUND SERIES
ASSY P.C. BOARD FT420M

CAPLUG - 5" DIAMETER - PLMT

KIT,MAGNET-CELLULAR PROGRAMMNG

PORTABLE SM METER TESTER GAL

PORTABLE SM METER TESTER, CU FT

PORTABLE SM MTR TESTER .01 M3

REGISTER & SHROUD ASSY. 4" TSM NOM 1 M3

PIPE INSTALL KIT-ORION

C-CLAMP WALL BRACKET INSTALL KIT-ORION
INTEGRATED PIT LID HANGER INSTALL KIT-ORION
COMMERCIAL METER MOUNTING BRACKET-ORION

WALL BRACKET INSTALL KIT-ORION 1XRTT/SE/ME/CE
ORION INSTALL KIT-TTL, ADA COMPLIANT

WALL BRACKET INSTALL KIT-ORION CELLULAR LTE

WALL COVER INSTALL KIT-ORION (JUNE 2017 & LATER)
NYLON POUCH, ORION MOBILE RECEIVER OR TRANSCEIVER
PLASTIC M25 BOTTOM

9-PIN SERIAL COMMUNICATION CABLE FOR CE MOBILE RECEIVER

MOBILE RECEIVER AC POWER SUPPLY, TRANSFORMER,WALL 12VDC 300MA
90 DEGREE COMMUNCATION CABLE CONNECTOR - ORION CE MOBILE RECEIVER

DC POWER CABLE - ORION MOBILE RECEIVER OR TRANSCEIVER
USB TO SERIAL ADAPTER

ACTISYS IR COMMUNICATION CABLE (SPECIAL)

ME MOBILE TRANSCEIVER RF CONNECTOR

90 DEGREE COMMUNCATION CABLE CONNECTOR - ORION ME MOBILE TRANSCEIVER

DC POWER SUPPLY, PANASONIC CF30/CF31 LAPTOP
AC POWER SUPPLY, PANASONIC CF 31 LAPTOP

CONFIDENTIAL AND PROPRIETARY
15

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
64436-040
64436-041
64436-042
64466-001
64466-002
64535-015
64535-016
64558-016
64942-001
65006-001
65046-004
65046-006
65553-003
65558-001
65580-001
65592-001
65615-003
65617-003
65618-001
65619-001
65654-001
65654-003
65836-001
65838-001
65848-004
65848-006
65855-001
65855-005
65855-006
65871-001
65913-001
65913-002
65913-003
65913-005
65913-006
65917-001
65957-001
65958-001
65962-001
65966-001
65967-001
65969-001
65971-001
65972-001
65973-001
65992-001
65992-002
65992-003
65992-004
65994-001
65994-002
65994-003
65994-004
65994-005
65994-006

UTL-PL-00047-EN-41 (02/25/2025)

List Price
39.14
185.40
257.50
22351
211.15
20.60
30.90
605.64
2.06

9.27
54.59
4223
79.31

2.06

109.18
3.09

112.27

66.95

3.86

6.18
18.54
20.60

1.03

3.09

400.67
43157

1.03

1.03

1.03

1.03

282.22
394 .49
367.71
448.05
418.18
221.45

3.09

1.03

6.18

3.09

3.09

6.18

3.09

3.09

6.18

4.12

4.12

4.12

4.12
20.60

1.03

1.03

5.15

4.12

4.12

Utility Service Parts

Part Descriptions

DUAL SOCKET ADAPTER / VEHICLE POWER SPLITTER

ACTISYS IR RAW COMM CABLE-USB

ACTISYS RUGGED IR RAW CABLE

MODEL RED REMOTE ELECTRONIC DISPLAY

HR-RED REMOTE ELECTRONIC DISPLAY

CABLE,5FT-BMI,.1670D

CABLE,25FT-BMI,.1670D

KIT,ORION ENDPOINT UTILITY (WINDOWS) W/USB IR

STRAP/SCREEN COMPONENT

SCREW VENT FLHD 5/16-18X5/8

2" STREET ELBOW, FOR 4" - 10" FSA

STREET ELBOW 1.5"

CHAMBER ASSEMBLY - M55

THRUST ROLLER - PLASTIC

SCREEN 6" PLATE STRAINER

HOUSING GASKET - M55

HOUSING - M55 - LOW LEAD (BIA)

HOUSING BOTTOM - BIALLOY (BIA)

HOUSING BOLT LINER (FOR C1) - M55

SCREEN - M55

HOUSING BOTTOM - CAST IRON

HOUSING BOTTOM - (RECLAIMED) (Cl)

WASHER 7/16 X 19/64 X 5/64 SST

GALAXY STEPPED PIT TUBE FOR PERMALOG+ MOUNTING - BLACK
ER-9 REGISTER FOR PLMT

ER-9 REGISTER FOR PLMT with cover

SEAL,TOP HAT-RED

SEAL, COMMERCIAL - RED SS-1

SEAL, COMMERCIAL - RED SS-2

SCREW MACH SLPN 4-40 X .25 LONG

4" DCV COVER PORTED W/O TEST PLUG

6" DCV COVER PORTED W/O TEST PLUG

8-12" DCV COVER PORTED W/O TEST PLUG

6" DCV COVER PORTED W/ TEST PLUG

8-12" DCV COVER PORTED W/ TEST PLUG

IR HEAD ALIGNMENT TOOL, ORION SE/ME/CE

ORION GASKET FOR AMERICAN RESIDENTIAL GAS METER
GASKET,LENS,AMER,GAS ORION P3

CLEAR OUTER COVER FOR ORION FOR AMERICAN RESIDENTIAL METERS
ORION GASKET FOR SENSUS RESIDENTIAL GAS METER

GASKET FOR OUTER COVER - SENSUS

COVER,SENSUS,GAS ORI P3

GAS ORION LENS GASKET FOR ITRON/ACTARIS SLANT FACED RES. METER
ORION GAS GASKET FOR ACTARIS SLANT FACE METER

CLEAR OUTER COVER FOR ORION FOR ACTARIS RESIDENTIAL METERS
BOLT MACH SLFIL 18-18X3.6" SST

BOLT MACH SLFIL 5/16-18X3" SST

BOLT MACH SLFIL 5/16-18X3.6"SS

BOLT MACH SLFIL 1/4-20X3.4"SST

INSTALLATION KIT - ORION GAS FOR AMERICAN C&| MODULE
PLASTIC SEAL CUP, 5/16 SKHD, GRAY

PLASTIC SEAL CAP,RED SS#3

INSTALLATION KIT, ORION FOR AMERICAN RESIDENTIAL GAS METER
INSTALLATION KIT ORION INTEGRAL FOR SENSUS RESIDENTIAL GAS METERS
INSTALLATION KIT FOR ORION GAS FOR ACTARIS SLANT FACE METER

CONFIDENTIAL AND PROPRIETARY Price List
16



=
=
-B Badger Meter

Part Number
65994-007
65994-008
65994-013
66042-001
66042-006
66053-003
66057-002
66131-002
66132-002
66133-002
66134-002
66159-002
66205-001
66233-005
66233-006
66233-010
66233-013
66233-015
66233-017
66233-020
66238-007
66276-004
66307-005
66322-002
66328-002
66329-001
66406-006
66488-036
66525-001
66525-002
66527-001
66528-004
66529-001
66529-002
66681-001
66802-001
66925-001
66925-002
66925-003
67101-017
67162-003
67162-004
67163-001
67348-001
67451-001
67452-001
67526-001
67526-002
67526-003
67526-005
67526-007
67526-008
67577-002
67625-001
67627-001

UTL-PL-00047-EN-41 (02/25/2025)

List Price
11.33
16.48
4.12
53.56

252.35
159.65
12.36
90.64
90.64
552.08
916.70
10.30
1.03
11.33
10.30
100.94
255.44
208.06
342.99
62.83
32.96
1,495.56
178.19
1,854.00
151.41
85.49
73.13
1.03
52.53
63.86
99.91
147.29
182.31
182.31
89.61
9.27
2.06
21.63
2.06
4,398.10
95.79
23.69
113.30
140.08
10.30
101.97
71.07
434.66
209.09
322.39
4223
32.96
566.50
4.12
70.04

Utility Service Parts

Part Descriptions

INSTALLATION KIT - ORION GAS FOR SENSUS C&I MODULE

INSTALLATION KIT - ORION GAS FOR ACTARIS C& MODULE

INSTALLATION KIT ORION INTEGRAL FOR SENSUS 415 GAS METER

1/2" BANDING KIT FOR POLES 2-24" DIAMETER, ORION 2.0 GATEWAY
BANDING INSTALLATION TOOL

M25 SALES CUTAWAY ASSEMBLY, FT3

USB CABLE 3' TYPE B TO A BLACK

HEAD FLANGE, MACH. 1-1/2"-2" BIA

HEAD FLANGE, MACH'D 3"-4" BIA

6" HEAD FLANGE (LOW LEAD)

8" HEAD FLANGE (LOW LEAD)

LID, REGISTER, RCLM, E-SERIES

ROOTS ROTARY METER SPACER

ENDPOINT SIDE 308 CONNECTOR PLUG

ENCODER SIDE 308 CONECTOR CAP

POWER CABLE - 100' W/308 CONNECTOR END, GALAXY 3.3 AND 3.0 OR ORION 4.0 GATEWAY
POWER CABLE - 300' W/308 CONNECTOR END, GALAXY 3.3 AND 3.0 OR ORION 4.0 GATEWAY
POWER CABLE - 100' W/308 CONNECTOR END, ORION SE GATEWAY
POWER CABLE - 300' W/308 CONNECTOR END, ORION SE GATEWAY

10' DC POWER SOURCE CABLE W/308 CONNECTOR END FOR GALAXY 3.3 AND 3.0 OR ORION SE
ORION ANTENNA FOR TRIMBLE RANGER

ADAPTER KIT-GALAXY LAN SERVICE

LAN SURGE SUPPRESSOR FOR GALAXY 3.0 GATEWAY

HOUSING, 6" STRAINER

COVER, 6" STRAINER

V-BLOCK INSTALLATION KIT FOR POLES 1-1/4-2-1/2" OD, GALAXY 3.0

308 IN-LINE CONNECTOR, 75' UNSTRIPPED

NICOR SECURITY CLIPS

M12 PLUG, ORION SE GATEWAY

M12 PLUG, ORION SE GATEWAY

RJ45 PLUG, GALAXY 3.3 OR ORION SE GATEWAY

HARNESS,PWR SUPPLY ORION SE

SERIAL PROGRAMMING HARNESS, GALAXY 3.3 AND 3.0 OR ORION 4.0 GATEWAY
SERIAL PROGRAMMING HARNESS, ORION SE GATEWAY

V-BLOCK INSTALLATION KIT FOR POLES 1-1/4-2-1/2" OD, GALAXY 3.3 OR ORION SE GATEW
BUILD UP INSERT, #89547

KEYED SEAL SCREW (FOR ADE, RTR AND RCDL LOCAL)

KEYED DRIVER BIT

KEYED SEAL SCREW (FOR HR-E LCD AND LP LOCAL)

TURBO SERIES HOUSING, ROUND FLANGE, W/O TEST PLUG

RJ45 CONNECTOR CAP, GALAXY 3.3 OR ORION SE GATEWAY

ORION SE GATEWAY M12 CAP-METAL

RJ45 INSERT REMOVAL TOOL

INFRA-RED WIRELESS USB ADAPTER

HR-E LCD IR READ BRACKET

GPRS BACKHAUL ANTENNA, ORION SE GATEWAY

TRIMBLE RANGER 3 CARRYING CASE

TRIMBLE RANGER 3 LI-ION BATTERY PACK

TRIMBLE RANGER 3 AC POWER SUPPLY

TRIMBLE RANGER 3 12V DC POWER VEHICLE CHARGER

TRIMBLE RANGER 3 HANDSTRAP W/STYLUS POCKET

TRIMBLE RANGER 3 SCREEN PROTECTORS 15-PK FOR FILM GLASS UNITS
PROGRAMMING KIT, ORION SE GATEWAY

IR HOLDER FOR WALL COVER INSTALL KIT

ORION SE Il GATEWAY TX/RX ANTENNA CABLE

CONFIDENTIAL AND PROPRIETARY Price List
17



=
=
RB Badger Meter

Part Number
67629-001
67632-001
67632-002
67632-003
67632-004
67632-005
67632-007
67632-009
67632-010
67632-012
67632-013
67632-014
67639-001
67708-003
67810-001
67928-001
67930-001
68011-001
68219-006
68219-007
68219-008
68223-002
68223-003
68250-001
68274-003
68274-006
68282-001
68288-001
68289-001
68290-001
68291-001
68307-001
68307-003
68307-006
68307-007
68307-008
68307-009
68307-010
68307-011
68468-001
68477-003
68477-004
68676-001
68779-001
68825-001
68874-001

UTL-PL-00047-EN-41 (02/25/2025)

List Price
86.52
31.93
53.56
32.96
51.50
55.62
4532
292.52
427.45
87.55
109.18
116.39
184.37
2.06
24.72

1,545.00
295.61
3.09
0.52
0.52
0.52
6.18
78.28
534.57
151.41
81.37
69.01
103.00
123.60
123.60
19.57
8.24
25.75
13.39
2.06
2.06
18.54
22.66
53.56
334.75
276.04
276.04
6.18
29.87
24.72
211.15

Part Descriptions

ORION SE GATEWAY BACKHAUL ANTENNA CABLE

5/8" NL STRAIGHT CONNECTION ASSY. W/ WASHERS
5/8" NL BENT CONNECTION SET WITH WASHERS

3/4" NL STRAIGHT CONNECTION ASSY. W/ WASHERS
3/4" NL BENT CONNECTION SETS WITH WASHERS

1" NL STRAIGHT CONNECTION ASSY. W/ WASHERS
3/4" TO 1/2" NL STRAIGHT COUPLING WITH WASHERS
1-1/2" NL STRAIGHT CONNECTION SET WITH WASHERS
2" NL STRAIGHT CONNECTION SET WITH WASHERS
FLANGE, ELL, NL BRONZE 1-1/2"

FLANGE, ELL, NL BRONZE 2"

FLANGE, ELL, NL BRONZE 2" - 11-1/2"

ORION SE Il GATEWAY TX/RX ANTENNA

KIT, ANTI-TAMPER CONNECTOR COVER FOR TWIST TIGHT OR 308 CONNECTORS
KIT,FLANGE NUT,ORION SE2

HOUSING MACHINED, 3" CSM

COVER MACHINED, 3" CSM

TOP NUT, ADA COMPLIANT, BLACK

GASKET, 5/8" ESM SERVICE

GASKET, 3/4" ESM SERVICE

GASKET, 1" ESM SERVICE

3/4" FGHT HOSE CAP W/GASKET

3/4" ID R. HOSE, 125 PSI, W/ 3/4" FGHT REF #518328

T FLOW COMBINER PLMT

ADAPTER, AC, FZ-G1

PEN, DIGITIZER (SINGLE), FZ-G1

SERVICE KIT GASKET PLMT ER-9/10"

CALIBRATION SHAFT, 2" - 4" RCDL TURBO SERIES
CALIBRATION SHAFT, WP-N, 6", RCDL TURBO SERIES
CALIBRATION SHAFT, WP-N, 8" - 12", RCDL TURBO SERIES
LOCK SCREW, CALIBRATION SHAFT, 1 1/2" - 6" RCDL TURBO SERIES
TWIST TIGHT WIRING HARNESS, ENDPOINT-SIDE, 9 IN
TWIST TIGHT WIRING HARNESS, ENCODER-SIDE, 25 FT
TWIST TIGHT WIRING HARNESS, ENCODER-SIDE, 10 FT
TWIST TIGHT CONNECTOR COVER, ENDPOINT-SIDE
TWIST TIGHT CONNECTOR COVER, ENCODER-SIDE
TWIST TIGHT INLINE EXTENSION CABLE, 5 FT

TWIST TIGHT INLINE EXTENSION CABLE, 10 FT

TWIST TIGHT INLINE EXTENSION CABLE, 25 FT
PROGRAMMING KIT, HR-E LCD

MAGNETIC MOUNT BASE & ANTENNA ASSEMBLY FOR ORION CE MOBILE RECEIVER
MAGNETIC MOUNT BASE & ANTENNA ASSEMBLY FOR ORION ME MOBILE TRANSCEIVER

LID, ESM2

IR ALIGNMENT TOOL FOR ORION LTE ENDPOINT

JUMPER HARNESS, TWIST TIGHT (ENDPOINT SIDE) / NICOR (METER SIDE)
FIRE HYDRANT ENDPOINT GUARD

CONFIDENTIAL AND PROPRIETARY
18

Utility Service Parts

Price List



=
=
RB Badger Meter

Part Number
68876-002
68876-003
68876-004
68876-005
68876-006
68876-007
68876-008
68876-009
68876-010
68876-011
68877-001
68891-001
68896-001
68992-002
68992-003
68992-004
68992-005
68992-006
68992-007
68992-008
68992-009
68992-019
68992-020
68992-021
68992-022
69140-001
69140-002
69140-003
69233-004
69243-001
69263-004
69263-005
69404-001
69406-001
69527-002
69583-001
69675-001
69784-001
69784-002
69784-003
69784-004
69784-005
69837-001
69919-002
69919-003
69919-004
69919-005
69919-006
69919-007
69919-008
69919-010
70114-002
70114-003
70114-004

UTL-PL-00047-EN-41 (02/25/2025)

List Price
76.22
250.29
44.29
105.06
433.63
433.63
649.93
662.29
56.65
133.90
15.45
121.54
17.51
433.63
259.56
128.75
215.27
498.52
172.01
868.29
19.57
476.68
40.13
107.02
314.35
27.81
9.27
38.11
19.57
98.88
198.79
200.85
52.53
7.21
19.57
24.72
109.18
3,481.40
63.86
167.89
203.94
119.48
1.55
161.20
48.41
48.41
632.42
102.49
48.41
322.39
174.07
307.65
133.76
53.50

Part Descriptions

YUMA 7 & RANGER 7 STYLUS AND TETHER

YUMA 7 & RANGER 7 AC CHARGER NORTH AMERICA
YUMA 7 & RANGER 7 HAND STRAP

RANGER 7 SCREEN PROTECTOR

YUMA 7 & RANGER 7 SET OF BATTERIES

YUMA 7 & RANGER 7 DC VEHICLE CHARGER

YUMA 7 & RANGER 7 SPARE BATTERY CHARGER
RANGER 7 DOCKING CONNECTION HUB

RANGER 7 SHOULDER SLING

RANGER 7 & YUMA 7 CARRY CASE SOFT SHOULDER
MOUNT, IR READER, ESM2

KIT, IR COMMUNICATION DEVICE FOR ORION CELLULAR LTE ENDPOINT
IR HOLDER, E-SERIES PLUS

T10 DC VEHICLE CHARGER

T10 EXTERNAL KEYBOARD

T10 AC CHARGING SUPPLY

T10 CARRYING CASE

T10 OFFICE DOCK

T10 STYLUS

T10 VEHICLE MOUNT

T10 SCREEN PROTECTOR

TRIMBLE T-10 REPLACEMENT BATTERY

T10 SHOULDER STRAP

T10 HAND STRAP

T10 BATTERY CHARGING KIT - SINGLE BATTERY
BADGERTOUCH COIL ONLY MODULE WITH TT
BADGERTOUCH PIT PAD, LOCK NUT AND COIL LOCK KIT
BADGERTOUCH PIT ASSEMBLY WITH TT

PADDLE ANTENNA FOR NEMO HANDY TOOL

YUMA 7 SCREEN PROTECTOR

KIT,ANTENNA+MAG MOUNT, 896 -970MHZ FOR MISR
MISR RF FILTER F916A

USB HUB MULTI-PORT

MOUNTING BRACKET, KIT, ESM2

JUMPER HARNESS, TWIST TIGHT (ENDPOINT SIDE)/ITRON ILC (METER SIDE)
NICOR (ENDPOINT SIDE) & TWIST TIGHT (METER SIDE) JUMPER HARNESS
NETWORK ADAPTER, USB 3.0 TO ETHERNET NIC
TABLET SURFACE PRO MICROSOFT

USB-C TO A ADAPTER

MICROSOFT SURFACE VEHICLE CHARGER

MICROSOFT SURFACE PEN ICE BLUE

MICROSOFT SURFACE DROPTECH CASE BLACK
ADAPTER RING BADGER TOUCH SENSUS

DC ADAPTER - DEL AUTO AIR 90 WATT

NYLON HANDLE- DELL 7200 RUGGED NOTEBOOK
SHOULDER STRAP - DELL 7220 RUGGED NOTEBOOK
KEYBOARD W/KICKSTAND - DELL 7220 RUGGED TABLET
ACTIVE PEN - DELL 7220 RUGGED TABLET

ROTATING HAND STRAP - RUGGED 7220 EXTREME TABLETS
BATTERY CHARGER - DELL LATITUDE 7220

PRIMARY BATTERY - DELL 34WHR 2 CELL

BATTERY CHARGER RUGGED TABLET 7230

BATTERY 2 CELL REPLACEMENT 7230

DELL ADAPTER 7.4MM BARREL TO USB-C

CONFIDENTIAL AND PROPRIETARY
19

Utility Service Parts

Price List



County of Henrico, Contract # 2339A — Water Meters and Fire Hydrant Meters, May 29, 2025

SMART WATER IS BADGER METER

Trademarks appearing in this document are the property of their respective entities. Due to continuous research, product improvements and enhancements, Badger Meter reserves the
right to change product or system specifications without notice, except to the extent an outstanding contractual obligation exists.
© 2025 Badger Meter, Inc. All rights reserved.

www.badgermeter.com

The Americas | Badger Meter | 4545 West Brown Deer Rd | PO Box 245036 | Milwaukee, WI 53224-9536 | 800-876-3837 | 414-355-0400

México | Badger Meter de las Americas, S.A. de C.V. | Pedro Luis Ogazén N°32 | Esq. Angelina N°24 | Colonia Guadalupe Inn | CP 01050 | México, DF | México | +52-55-5662-0882
Europe, Eastern Europe Branch Office (for Poland, Latvia, Lithuania, Estonia, Ukraine, Belarus) | Badger Meter Europe | ul. Korfantego 6 | 44-193 Knuréw | Poland | +48-32-236-8787
Europe, Middle East and Africa | Badger Meter Europa GmbH | Nurtinger Str 76 | 72639 Neuffen | Germany | +49-7025-9208-0

Europe, Middle East Branch Office | Badger Meter Europe | PO Box 341442 | Dubai Silicon Oasis, Head Quarter Building, Wing C, Office #C209 | Dubai / UAE | +971-4-371 2503
Slovakia | Badger Meter Slovakia s.r.o. | Racianska 109/B | 831 02 Bratislava, Slovakia | +421-2-44 63 83 01

Asia Pacific | Badger Meter | 80 Marine Parade Rd | 19-07 Parkway Parade | Singapore 449269 | +65-63464836

Switzerland | Badger Meter Swiss AG | Mittelholzerstrasse 8 | 3006 Bern | Switzerland | +41-31-932 01 11


http://www.badgermeter.com/



